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NOTES FROM THE AUTHORS

MIDDLE SCHOOL MATH WITH PIZZAZZ!is a -

series of five books designed to provide

practice with skills and concepts taught in

. today's middle school mathematics

" " programs. The series uses many of the same
-puzzle formats as the MATHIMAGINATION

series, PRE-ALGEBRA WITH PLZZAZZ! series,

w¢  and ALGEBRA WITH PIZZAZZ! series, all

Ep 'pi;blished by Creative Publications.

We believe that mastery of math skills and
céncepts requires both good teaching and a
great deal of practice. Our goal is to provide

. pugezle activities that make this practice more
= meaningful and effective. To this end, we
have tried to build into these activities three
characteristics:

1. KNOWLEDGE OF RESULTS. Various
‘devices are used in the puzzles to tell
«students whether or not their answers are
“correct. Feedback occurs immediately after
the student works each exercise. For
~example, if a particular answer is not in
the code or scrambled answer list, the
student knows it is incorrect. He or she
can then try again or ask for help.
'Additional feedback and reinforcement
occurs when the student finds a puzzle
solution that is appropriate. This
.immediate knowledge of results benefits
students and also teachers, who no longer
have to spend time confirming correct
answers. -

2.A MOTIVATING GOAL FOR THE

TN STUSEMNT; The puzzles are designed so
that stizdents will construct a joke or
unscrarmnble the answer to a riddle in the
praocess of checking their answers. The
humor operates as an incentive, because
the stadents are not rewarded with the
punch:line until they complete the
exercises. While students may decry these
jokesms “dumb” and groan loudly, our
experience has been that they enjoy the
jokes-and look forward to solving the
‘puzzles. The humor has a positive effect on

«-Glass=morale. In addition to humor, the
variety and novelty of procedures for
solving. the puzzles help capture student
interest. By keeping scrambled answer

lists short and procedures simple, we have
tried to minimize the time spent on finding
answers or doing other puzzle mechanics.

3. CAREFUL SELECTION:OF TOPICS AND
EXERCISES, The puzzles within each
topic area are carefiglly sequenced so that
each one builds on skills and concepts
previously covered. The sequence of :
exercises within each puzzle is designed to-
guide students in incremental, step-by- =~
step fashion toward mastery.of the skill or
concept ihvolved. A primary goal is the
development of problem-solving ability. In
order to solve problems, students need not
only rules and strategies biit also a

concepts. Some puzzles in this series are .
designed- speaﬁcally to build concepts.
Other puzzles, especially those for
estimation, also help deepen:students’
understanding by encouraging them.to -
look at numbers as quantities rather than.._
just as symbols to be manipulated. For
puzzles specifically keyed to:problem”
solving, we have tried to write problems
that are interesting and uncontrived. We

~ have included extra information in some
problems, and have also mixed problem
types within sets, so that the problems
cannot be solved mechanically.

In addition to these efforts to make the
puzzles effective, we have tried to make them
easy to use. The topic for each puzzle is given
both at the bottom of the puzzle page and in
the Table of Contents on pages:4.and 5.;Each
puzzle is keyed to a specific topic inn'recent

'~ editions of leading middle school textbooks.

Each puzzle requires duplicating only one
page, and many of them provide space for-
student work. Finally, because the puzzles
are self-correcting, they can eliminate the
task of correcting assignments. -

We hope that both you and your students
will enjoy using these materials. .

Steve and Janis Marcy
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NOTES ABOUT USING THE PUZZLES

The selection of topics for MIDDLE SCHOOL
MATH WITH PIZZAZZ! reflects recent thinking
about what is important in an updated middle
school math program. Virtually every puzzle can
be matched with a particular lesson in recent
editions of popular textbooks. After students

- have received instruction in a topic and worked
some sample exercises, you might assign a
puzzle along with a selection of textbook
exercises. -

Students in the middle grades should begin to
classify many mathematics problems and
exercises into one of three categories:

1. MENTAL MATH. Problems for which an exact
answer can be obtained mentally.

2. ESTIMATION. Problems for which an
approximate answer, obtained mentally, is
sufficient.

w

. TOOLS. Problems requiring an exact answer
that cannot be obtained mentally. Students
will use paper and pencil and/or calculators.

Some of the puzzles in this series focus
specifically on one of these categories. A few
puzzles actually present problems in all three
categories and ask the student to make the
classification.

By the time they reach the middle grades,
students should generally be permitted to use
calculators for problems that require tools
(Category 3). The most common argument
against calculator use is that students will
become overly dependent on them. This concern,

- though, appears to be based primarily on fear
that students will rely on the calculator for

Other books by Steve and Janis Marcy

problems in Categories 1 and 2, those that
should be done mentally.

To solve problems in Category 3, calculators are
wonderful tools for computing. Students may
also need paper and pencil to make diagrams,

- write equations, record results, etc., so they will

need both kinds of tools. On the other hand. .
students should not need calculators for
problems in Categories 1 and 2, problems that
call for mental math or estimation. Skills in
these areas are essential not only in daily life
but also for the intelligent use of the calculator
itself. The puzzles in this series reflect these
three categories and the distinction between
them.

When students do use calculators, you may
want to have them write down whatever
numbers and operations they punch in and their
answers. This makes it easier to identify the
cause of any error and assists in class
management. Even when students do mental
math or estimation puzzles, have them write a
complete list of answers and, where appropriate,
the process used to get the answers. Encourage
students to write each answer before locating it
in the answer list. Students should complete all
the exercises even if they discover the answer to
the joke or riddle earlier.

One advantage of using a puzzle as an
assignment is that you can easily make a
transparency of the page and display the
exercises without having to recopy them on the
board. You can then point to parts of a problem
as you discuss it. It is often helpful to cut the
transparency apart so that you can display
exercises on part of the screen and write
solutions on the remaining area.

published by Creative Publications

Mathimagination Series in a Binder

Six books on basic math skills for grades 4-9

Pre-Algebra With Pizzazz! Series in a Binder
Four books covering most topics in a pre-algebra curriculum

Algebra With Pizzazz! Series in a Binder
Four books covering most topics in a first-year algebra curriculum
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What Do You Call a Popular Perfume?

Solve each problem and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in the
spaces at the bottom of the page.

@ Larry bought 7 medium pizzas from Pizza

Heaven.
a. How many pieces did he get?
b. What was the total cost?

Sherry bought 1 small pizza and 1 medium pizza.
a. How many pieces did she get?

b. What was the total cost? Pizza Heaven
Perry bought 2 small and 3 large pizzas. ‘ Number _
a. How many pieces did he get? Size of Pieces Price
b. What was the total cost?
small 4 $5

Mary bought 6 medium and 8 large pizzas.
a. How many pieces did she get? medium 6 $7
b. What was the total cost?

Barry bought 9 small and 4 medium pizzas.
a. How many pieces did he get?
b. What was the total cost?

Kerry bought 6 small pizzas for a group of 8 people.
a. How many pieces did she get?
b. If divided equally, how many pieces will each person get?

Jerry bought 5 medium and 3 large pizzas for a group of 9 people.
a. How many pieces did he get?
b. If divided equally, how many pieces will each person get?

Terry bought 4 large pizzas for a group of 6 people.
a. What was the total cost?
b. If the cost is divided equally, how much will each person pay?

Gary bought 6 small and 6 medium pizzas for a group of 8 people.
a. What was the total cost?
b. If the cost is divided equally, how much will each person pay?

large 8 $9

@ @ 6 © ©
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Why Is it Dangerous to Do Math in the Jungle?

Mark each box containing a number that does not belong in that
row. Then write the letters from these boxes on the lines at the right.

Multiples 0 5110115118 202530 |35|36 |40 |45 50
of 5 TISIAIH| I | X|S|E|T|F{N|O|P
Multiples 0l2|4 /5|6 8 |10{ 11 |12 | 14 ;16 17 1 18
of 2 BITIAJ]TY EIA|l | |OILIKIGIUIA
Multiples 0| 4| 8 (16|24 3240|144 48 |50 56|64 | 72
of 8 NIAILISIK|ILIR/ID E|ID/E/DIN
Multiples 0 316 9 112 (14 (15118 |21 |24 | 26 | 27 | 28
of 3 KINIUM I | TIHB/RIE/IWINIO
Multiples 0 12115118 |24 | 30 |36 |40 | 42 | 48 | 52 | 54
of 6 PILIO AR F|E|TIN|IS T|DIE
Multiples 0 9 (18|27 136|142 |45 54 |63 /66|72 |81 84
~of 9 FIIT| TIWIH S E|IO/V|]I|E|N|X
Multiples 0| 4|, 6|8 |12]16 (18| 20/24 |28 31|32 |36
of 4 TIHHY AIE|S|O/VIN|IGIUJ|L|R
Multiples | 0 | 7 | 14| 21] 24283539 [42]44]45] 49 |56
of 7 HC AIVIWINIEII |S|LIL|H|S
Even 6 |11]114110| 2 (16| 8 {12 | O 4 |1510| 9 "
Numbers S| GIO|A|/ I [N OJU RIOIE|W|T
odd |5 118[17] 7 [18[19] 1 [15[11]0 |3 ]2]9
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Why Do You Get A Wig From The
Acme Wig Company So Quickly?

For each exercise, write the missing number in the blank. Then select the property
illustrated. CIRCLE the letter in the appropriate column next to the sentence.

At the bottom of the page, find the box containing the number you wrote in the blank.

Write the letter you circled in this box.

commutative associative  identity

property property property
11 2+3= J+2 E P C
2| 43+ ]=39+43 A Vv O
3/ 21+0=_| S | A T
4| [ 1+0=60 G N |
5 (4+5)+6=4+5+_) A E T
6| (74+29)+83=_]+ (29 +83) O T S
715+ ]1+6)=(15+33)+6 R H E
8| 149+ =149 L R |
9| 70+80=80+[_ ] N T L
10| [ ]+ 586 =586+ 211 Y R N
1) (5+19)+14=5+ ]+ 14) E A O
12| [ ]+ (64 + 55) = (37 + 64) + 55 A | U
13| 8+ |=43+8 M W B
14| 99+0=_| E K D
15| 352 +87 =[__ |+ 352 L M T
16| (93 +45)+[__ ]=93 + (45 + 68) R S B -
17, [ ]+ 0=51 F N R
18| 75+ (225+30)=(__1+225)+30| K H S

21133 3 |211|30(68| 6 [70|99|45|37|74|17|75|19 |60

5114339 0 ;87




‘Dentists Hate It!

906
$981.39 11,302
60,431 $1565.16
| $368.35 202
| : 7,225 54,700 o 62,761
1,415 61,561 |
51375 16 475 151,354
53,900 8,185 30,405 32 305
8 oo $371.35 (21,811 / $831.39 / |
’ $74.05 \
_ | 0,323 143,354
10,602
$9.77

Do the exercises below and find your answers in the rectangle. Shade in each area
containing a correct answer. You will discover what dentists hate!

@ 347 @ 664 @ 780 @ 869

+ 125 + 298 + 635 + 37

(5) 6238 (6) 8,005 (@) 4717 9,646

+:1,947 + 9,375 + 7,638 + 956

(o) 54728 (10) 77.436 @ 13,721 (12) 38,964

+ 5,703 + 65,918 + 8,090 + 47,276
$6.79 $54.60 $917.55 $726 16
+ 2.98 ® + 19.45 © + 63.84 ‘ '+ 839.00

@ 6,346 + 879 4,607 + 25,798 $338.75 + $29.60

587 + 60,974 @ 8,416 + 907 @ 49,000 + 4,900

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A
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What Do You Get When You ...

1. Cross a rabbit with a lawn sprinkler?

14,232 54,820 94,700

2. Cross a kitten with a Xerox® rﬁachine?

1,502 46,840 6,289 39,880 94,700 54,820

12,105

54,820 95,300 50,373 775 39,880 12,105 51,273 50,373 54,820 263,267

3. Cross two turkeys with a coal production company?

296 88,472 1,944 1,502 94,700

1,734 14,771 88,472 94,700 60,511

6,289

AAAALAAA

answer appears, write the letter of the exercise above it.

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:
Do each exercise below and find your answer in the code. Each time the

\AAAAAAAS

275 7,446 1,078

@ 468 ® 980 5,456
+ 32 + 3,679 + 8,237

618 3,954 81,449

@ 337 @ 629 @ 193
85 588 6,756

+ 462 + 9,061 + 74

(S) 265 + 839 + 5,185
(C) 43,706 + 49 + 6,618
Use the table at the right for the next three questions.

What is the combined area of the two largest lakes?
sq mi

® What is the combined area of the three smallest lakes?
sq mi

® What is the combined area of all five lakes?
sq mi

@73+24+58+96+45
@863+72+36+904+69

90,553
52,896
+ 77,147
Area
Great Lakes | (square miles)
Erie 9,940
Huron 23,010
Michigan 22,400
Ontario 7,540
Superior 31,810
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Did You Hear About ...
B C D

.3
‘é; A E F @
é 2
& b 4
8 %
21 G H I J K L /4
<& 4
3 2
@ @

/4
& ’
%I M N O P Q R 2
8 1 - 1%
(:, ! ‘:5
%3 [

Do each exercise and find your answer in the appropriate answer column. Notice the
word under the answer. Write this word in the box containing the letter of the exercise.

Answers A-i;

35,155
GO

8,634
NEW

37,655
RUN

599
SYSTEM

548
THE

65,151
CARS

4,812,982
ALL

1,726
WITH

6,088
THAT

2,778
SUBWAY

4,837,982
UNDER

64,551
TRAINS

5,578
BIGGER

O 704

- 156

@ 4449 (E)

- 3,850

@ 31681 (H)

~ 25,593

(D $4729 (K

- 9.64

@ 5,280 — 394

@ 10,101 — 6,666

Answers J-R:

@ Ms. Twinkle bought a car for $15,000. Five years

price?

@ Leonardo bought one oil painting for $3,150 and

together for $10,000. How much profit did

9,017 (C) 5,706 3,435
- 383 - 2,928 ON
$728.75
WHEN
8,001 (F) 70,360 70,290
- 6,275 - 5,809 GROUND
$2,175
TRACKS
50,000 @ 9,722,600 $6,480
- 12,345 — 4,909,618 WHEELS
$37.65
OVER
$7050 (L) $800.00 $86.56
— 38.71 - 60.25 THEIR
$34.75
AROUND
@ 71,000 — 710 $739.75
BELOW
(P) $90.05 - $3.49
4,886
THE
later, she sold the car for $8,350. How much less 5
was the selling price than the original purchase $g'ugo
$84.66
o CITY
another for $4,675. Later, he sold both paintings
$31.79
TOWN

Leonardo make?

R EIP"PN] ™ ™ 1 1/ R & AT I 2 a 85
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\ What Do You Get When You Phone a Bee?

TS e e e - e - e - A - M e - . e e A e e e e e e T e - T M o e e M e e o > M A MR W R e e R e e e o

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in
i the spaces at the bottom of the page. .

@ 3,817 2 4,785 ©) 94,276 O 70,831

+ 5,966 ‘ - 1,397 + 8,089 - 4,674

@ -2,995 @ 56,148 @ 688,914 8,493,281

386 661 392,806 4,087,556
+ 8,270 + 7,549 + 45,777 + 2,269,449

@ 31,835 754,800 @ 905,416 @ 5,000,500

— 14,908 - 61,922 - 398,067 - 27,534
Matt ordered a Galaxy Burger and a Milky Way Shake. Galaxy Burgers
Karen ordered a Moon Burger and a large Space Drink. Calorie Chart
@ How many calories were in Matt's meal? ftem calories
, , , Galaxy Burger 725
How many calories were in Karen's meal?
_ _ . Star Burger 480
How n’wany more calories were in Matt's meal than in Moon Burger 365
Karen’s meal? Astro Fri 290
. stro Fries
Jennifer ordered a Star Burger, Astro Fries, and a small Space Drink. )
Saturn Rings 195

Mike ordered a Galaxy Burger, Saturn Rings, and a Milkky Way Shake.

How many calories were in Jennifer's meal? Milky Way Shake 430

Space Drink, large 140

How many calories were in Mike's meal? .
@ y Space Drink, small 85

How many more calories were in Mike's meal than in
Jennifer's meal?

“Our Burgers Are Meteor”

: PH TH GR AB ON EE uz 00
692,878 | 3,388 4,913,966 | 14,850,286 525 505

CA LL LA CcO Y ou BE _SI
66,157 | 64,358 4,972,966 | 14,920,286 507,349 | 1,280

CK GN ow AC AL LS IT IN ‘
16,927 | 503,449 1,127,497 | 1,145,497 11,651 | 102,335

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A
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Why Don’t Many Barbers Join the Army?

Estimate each sum or difference. Circle the letter of the better choice. Write this
letter in the box containing the number of the exercise.

4. 47 + 252 5. 758 — 19 6.517 + 184

@ about 260 @ about 710 @ about 700
@ about 300 @ about 740 @ about 900

7. 925 - 306 8. 1,892 - 721 9. 288 + 4,109

(K) about 400 (P) about 1,500 (0) about 4,400
@ about 600 @ about 1,200 @ about 4,800

10. 336 + 580 + 127 11. 8,195 + 7,606 12. 9,130 - 5,799 (

@ about 1,000 @ about 13,000 @ about 3,000

@ about 1,300 @ about 16,000 @ about 1,000

13. 45,307 — 1,853 14. 29,974 - 6,838 15. 3,710 + 8,926 + 5,235
(C) about 40,000 (H) about 23,000 . (N) about 18,000
(T) about 43,000 about 26,000 (L) about 22,000

16. $7.84 + $9.15 17. $18.58 — $6.63 18. $1.98 + $22.09 + $4.67

19. Valley Video owns 1,714 video tapes. 20. Dinner costs $28.35. Tax and tip
Of these, 288 are rented out. About together add $6.83. About how much -
how many are not rented out? change should you get from a $50 bill?

about 1,200 @ about 1,400 @ about $12 @ about $15

(.
I414116 1719 |2 |15 1378 |1 20| 5 |10 |18 16312197]“




What Kind of Birds Jump Out of Airplanes?

Solve each problem below and find your solution in the answer column. Write the
letter of the answer in each box containing the number of the problem.

Kent weighs 139 pounds and his bicycle weighs 31 pounds. Jill
weighs 106 pounds and her bicycle weighs 28 pounds. How
much greater is the combined weight of Kent and his bicycle
than the combined weight of Jill and her bicycle?

@ Janet and Andy bowled three games. Janet's scores were 119,
96, and 145. Andy’s scores were 127, 74, and 88. How much
greater was Janet's total score for the three games than Andy’s
total score?

@ In the three events of a weightlifting competition, Paul had lifts of
165, 290, and 259 pounds. Stan had lifts of 216, 344, and 243
pounds. How much greater was the combined total of Stan's
three lifts than the total of Paul’s three lifts?

45 miles

@ In his first year on the basketball team, Tim scored 196 points. In
his second year he scored 85 more points than the first year. In
his third year he scored 33 fewer points than the second year.
How many points did Tim score in the third year? (HINT: First
find how many points he scored the second year.)

248
59 pounds

$136

@ In his first year on the football team, Bill rushed with the ball 76
times for a total of 314 yards. In his second year, his rushing
total was 68 fewer yards than the first year. In his third year, it
was 127 yards more than the second year. How many yards dnd
Bill rush in the third year? ,

36 pounds
91
373 yards

@ Amy is training to run a marathon. During her five workouts last 037

week, she ran distances of 18 miles, 15 miles, 12 miles, 17
miles, and 20 miles. How much greater is the combined distance
of her five workouts than the marathon distance of 26 miles?

89 pounds

@ 56 miles

OPLLOEO®O®E

@ Sue has chosen some new ski equipment to buy. The skis cost
$296, the poles cost $35, and the boots cost $180. However,
one store is offering a package deal price of $375 for all three.
How much money will Sue save by buying the package deal?

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A
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Why Is The Library Not Adding

Any More Fairy Tales?

For each exercise, write the missing number in the blank. Then select the property

ilustrated. CIRCLE the letter in the appropriate column next to the sentence.

At the bottom of the page, find the box containing the number you wrote in the blank.

Write the letter you circled in this box.

commutative associative-  identity zero

property  property  property  property
116x1=_ L K A E
2 12x[ ]=12 l A @) T
314x9=9x[_] E D N G
4130x[__]=50x30 F P H B
5/8x[_ 1=0 A O T I
6| (2x3)x7=2x(3x[_1) C T Y S
7/1(9x8)x20=9x(8x[__J) E A I V
8(43x21)x37=[ Ix(21x37) N F R T
9135x45=[ 1x35 O | T L
10/ |x6=6x96 S L R P
1M [77x1=_] A N F T S
12 |5 x (40 x 30) = (5 x[_J) x 30 T N D G
13 |61 x (38 x[___]) =(61x38)x59 A U R S
14| Ix(83x15)=(87x%x3)x15 T C N R
151900 x 44 =[x 900 R M F C
16 | Ix1=161 | S E R .
171(22x1)x9=[__]x(1x9) L P X T
18|75+ (6x0)=_]+0 N Q R L

6122]20/87] 4 B

IO 77I44 5‘40'45)59‘7'1 43I161 75‘50'9‘ |

[



£ 6 S 6252 bl v SEV. 8 8 I EE (8 + £)G2e = ((_]x Gge) + (L x G2€)

V (9x61)+([C_1x6L)=(9+¢€€)x6l
ERhOALULBIEESLBRD (0S5 +08) X G = (05 % ) + (08 X[ )
(96 +66) X Le=(9G X)) + (66 X 1€)
(P2 +8€) x /8= (__]x/8) + (8 x /8)
)

)

(CJ+55)x6=(62%6)+(35%X6
(ZL+e)x[J=(L1x02) +(eXx02
(8+9)x[_1=(8xp)+(9%x¥P)

6y <€)+ (19xg)=(6v+ 19) X[ ]
(2L x02)+(6x0L) =(C_]+6)x0.
(0¥ x gg) + (0 x[__)) = (0¥ + 0€) x G2
(Gx[P+(8x9)=(5+8)x9
(gxg)+(C_1x8)=(2+11)x8
(CIxg)+(rxG)=(6+¥)XG
(Ixe)+(oxg)=(2L+9)xg

wlo|ZI>IhLin|F|{<<|X|0O | |N

o
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How Can You Make An Elephant Fly?

(
Follow the directions given for each section. Write the letter of each exercise in ‘
the box containing its answer.

|. Use mental math to find the product. Under each exercise, show the order in which you
multiplied. The first exercise is done as an example.

(T)2x13x5 (0)2x79x5 (H)43x5x2
(x )

 (2x5)x13=130 )x = o
(R)5x 66 x 20 (1) 25x4x94 - (1) 4x14x5
(V)21 x5x4 (W) 8 5x 11 (0)5x32x6
@2x688><5 @47><2><50 ®5O><12x4

420 | 790 | 960 | 990 |4,700 | 280 |6,600 (2,400 | 130 {2,700 | 440 {9,400 (6,880 | 430 (
T

ll. Use mental math to find the product. Under each exercise, show how the distributive
property can be used to multiply mentally. The first exercise is done as an example.

(E)3x43 ()5 x 34 (1)4x92

(3x40) +(3x3) =129 ( X )+{ x )=

161 | 318 | 462 | 170 | 324 | 390 | 178 | 422 | 312 | 368 | 472 | 376 | 129 | 465
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What Kind of Car Makes the Line
In the Middle of the Road Disappear?

Solve each problem and find your answer at the bottom of the page. Cross out the
letter above each correct answer. When you finish, the answer to the title question
will remain—something you “auto” know!

1 Lincoln Middle School bought one Pro 35-A Click Photo Supply
camera and three Instazoom cameras from Click |~ " price ||
Photo Supply. What was the total cost of this - :

Instazoom camera ~ 136

2 Tim bought a Pro 35-A camera, a flash attachment,|| F5sh attachment 65
and a 28 mm Ieps. Joe bought an instazoom Tripod 57
camera and a tripod. 200 lenhofo | 145

A. How much did Tim’s equipment cost? mm telephoto lens
B. How much did Joe's equipment cost? . 28 mm wide angle lens 108

C. How much greater was the cost of Tim’'s
equipment than Joe’s equipment?

Film is sold to Click Photo Supply with 6 rolls in a pack. There are 24 packs in a
case. How many rolls of film are in 5 cases?

Jessica shot 7 rolls of film with 24 pictures on each roll and 2 rolls with 36 pictures
on each roll. How many pictures did Jessica take altogether?

Jill shot 9 rolls of film with 36 pictures on each roll. Of these, 157 pictures were
taken indoors. How many pictures were taken outdoors?

o O B W

Mark is sports photographer for the school yearbook. During the year, he took 277
pictures at football games, 382 pictures at basketball games, and 468 pictures at
other sports events. Of these, 58 were actually printed in the yearbook.

A. How many sports pictures did Mark take altogether?

B. How many of Mark’s pictures were not printed in the yearbook?

~J

Bill's photo album has 39 pages with 8 pictures on each page and 25 pages with 4
pictures on each page. How many pictures are in Bill's album? '

Mary's photo album has 18 pages with 6 pictures on each page, 34 pages with 4

pictures on each page, and 10 pages with 1 picture on each page. How many

pictures are in Mary’s album?

Tom has a photo album with 80 pages. There are 48 pages with 5 pictures on

each page. All the other pages have 3 pictures on each page. How many pictures
are in Tom’s album?
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DAFFYNITION DECODER

1. Prizewinning dog:

36,028 35,178 12,336 44,716 15,720 3,564 11,820 59,512
2. Mudpie:

47,800 3,564 11,820 9,360 35,178 4,808 3,564 44,574 47.800
3. Pick for mountain climbers:

4,808 22920 25476 3,607 44,613 3,624 3564 77,517

TO DECODE THESE THREE DAFFYNITIONS:

Do each exercise below and find your answer in the code. Each time the answer
appears, write the letter of the exercise above it.

@ 1872 @ 7,439
X 5 X 8
@ 5,863 @ 8,492
X 6 X 3
@ 8,613 @ 7,429
X 9 X 6

@ (7 x 745) — (3 x 536)

@ A rock band made a concert tour of 13
cities. They traveled an average of
1,970 miles per week for 6 weeks.
How far did they travel altogether?

answer: miles

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A

@ 3,084 4,957
x 4 X 9
@ 6,388 @ 9,560
X 7 x = B
@ 2,865 @ 9,007
X 8 X 4

@ (478 x 9) — (2 x 369)

@ Tickets to a play cost $8 for adults and
$5 for children. If 496 adult tickets and
168 children’s tickets were sold, how
much was spent on tickets altogether?

answer: $

TOPIC 4-h: Multiplying by a
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Answers A-H:

Do each exercise and find your answer in the appropriate answer column. Notice the
word under the answer. Write this word in the box containing the letter of the exercise.

238,190
SOME

127,688
WHEN

34,008
ACTOR

62,262
DOWN

697,048
ROCKS

52,395
FELL

113,688
AND

21,992
THE

38,192
ON

253,190
THE

36,292
WHO

680,048
STAIRS

54,195
WANTED

®

2,749

5,668

@ 9,073
X

@ Sound travels at a speed of about 1,087 feet per
second when the temperature is 32°F. At this
speed, how far does sound travel in 8 seconds?

feet

@ A space satellite made 3 orbits around the earth
in 5 hours. The satellite traveled at an average
speed of 15,490 miles per hour. How far did it

travel?

miles

@ A truck for delivering new cars weighs 9,350
pounds when empty. If the truck is loaded with 7
cars that each weigh 2,780 pounds, what is the

total weight of the loaded truck?

pounds

Answers 1-0:

8,386
DOING

488,457
FINALLY

582,082
WENT

77,450
A

194,628
PART

25,910
PLAY

8,696
IN

563,082
GOT

79,150
HIS

449,457
THEM

28,810
CAST

184,928
FRIEND

188,510
A




Why Did the Cow Jump Up and Down?

Do each exercise and find your answer to the right. Write the letter of the answer in
the box containing the number of the exercise. If the answer has a ‘ , shade in the
box instead of writing a letter in it.

(1) 38

®

27_@

x 50

596
x 80

®

875
x 700

6,082

x 3,000

@ 9,742,000

@ 424,680,000

1,814,600

@)

4,183

x 800

@ 360,300,000

@ 3,346,400

$63.94

x 7,000

(E) $5.076.00
@ $2,732.10
(N) $26,321.00

@ $457.560.00

(R) $5,126.00

‘ $447,580.00

x 40
© | e

(17) 837 x 20
5,915 x 500

58,240,000

976,2

00
X 70

64 x 400

@ 942 x 9,000

@ 68,334,000

@ 8,497,000

@ 66,374,000

@ During the last 30 days, Bill ran
185 laps around the school track.
If the track is 400 meters long,
how far did Bill run altogether?

12|36 |2f

18

91 |14]17|11

Judy swam 16 lengths of the pool
doing backstroke. Then she
swam 32 lengths using freestyle.
If the pool is 50 meters long, how
far did Judy swim altogether?

482

13]19]10]16|23
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What Happens to Old Trucks?

Do each exercise below. Draw a straight line connecting the square by the exercise
to the square by its answer. The line will cross a number and a letter. Write the
letter in the matching numbered box at the bottom of the page.

1 (72x16) + 4,085

4819

2 (49x83)+675 4,852

3 (96 x50)-1,840 5,237

17,400

5 5,280— (48 x89) 333

6 10,000 — (57 x 94) 4,742

565

®
®
®

4 (67x67)-3924 & ®
®
®
7 (76 x 28) + (39 x 69) ¢
IS

8 (58 x67)—(15x 10) 10,000

®
)

9 (7x7x92)-40

10 6,000 — (5 x 8 x 46) 4,160

11 (2x 39 x5) + 751 243

12 (7 x 92 x 8) — 300 2,960

13 94 x47x3 3,736

1,141

15 (60 x 60) + (80 x 80) 4,480

16 4x4x4x70 13,254

1,008

$
$
$
4
2
%
$
4
¢ 4,642
L 4
¢
4
4
L 4
L 4
4
17 3x3x3x3x3 ¢
4

2
4
L 4
4
14 50x58x6 4
4
4
¢
2

4,468

18 (1 x 333) - (0 x 333)
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BOOKS NEVER WRITTEN

The Great Diamond Robbery by

8,350 50,991 36,848 2,223 3,666 13,950 6,228 14,550 23,199 37,926 23,352

Tricky Rifle Shooting by

14,550 7,154 28,368 10,332 3,856 37,926 37,248 3,666 5,376 6,228 31,434

ABOVE ARE THE TITLES OF TWO “BOOKS NEVER WRITTEN.” TO DECODE THE
NAMES OF THEIR AUTHORS:

Do each exercise and find your answer in the code. Each time the answer appears,
write the letter of the exercise above it.

57 @ 84 @ 08 @ 346

x 39 X 64 x 73 x 18

(m)

@ 278 @ 739 @ 591 @ 407

x 84 x 69 x 48 x 57

@ 806 @ 658 @ 7 x63 %86

x 39 x 56
® 28 x (500 — 131)

(J) (195% 10) + (64 x 100)

@ A television show was produced for 3 @ Bizarre Middle School bought 15
years. Each year, 26 episodes were computers and 6 printers. If each
filmed. Each episode ran 47 minutes. computer cost $790 and each printer
How long would it take to watch all the cost $450, what was the total cost of
episodes of that TV show? the new equipment?

min $
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How Do Clocks Communicate?

Do each exercise below. Find your answer in the answer column and notice the letter
next to it. Look for this letter in the string of letters near the bottom of the page and
CROSS IT OUT each time it appears. When you finish, write the remaining letters in
the rectangle at the bottom of the page.

©) 714 2

x 325

@) 598 (5)

x 308

@ 6,092

x 444

@ 7,004 x 704

@ 52 x 51 x 50

‘ The image on a computer

629
x 731

920
x 659

8,376

x 608

@ 845

x 476

@ 357

x 907

@ 1,869

x 952

(11) (308 x 200) + (38 x 300)

(13) (900 x 600) - (9,000 x 60)

@ The letter “K” often stands for

monitor is composed of many

small dots of light. A screen
with a diagonal measure of
12 inches might have 200
rows of dots with 320 dots in
each row. How many dots is
this altogether?

WNOSTERDISFGCMUKSTOPASBDELRNMKVH

kilo, meaning 1,000. In com-
puter terms, however, K
stands for 1,024. If a com-
puter has 256K of memory, it
has room for 256 x 1,024
bytes of information. How
many bytes is this?

y

- N AN

® = o W

ol S B s S L

- o O o

® O H @

5 © X oS
o

\

@ 4,741,816

(,

I ANSWER TO PUZZLE:

2 I ™D P T 1™ R B AT I

TATIT™F 1 II™P™F A ™p=4yi ro s~ 17 A



How Did Captain Hook Get Injured?

Do each exercise and find your answer in the set of answers to its right. Write the

letter of the exercise in the box containing the number of the answer.

|. Write using an exponent.

@7><7><7

@3-><3><3x3

@4x4x4x-4x4

@'9><9

@ 10x 10 x 10'x 10 x 10
@4><4x4x4x4x4x4

[I. Write the product.

@ nx 103 = 5,000

@ nx 107 = 80,000,000

—t
n
n

400

4,000,000

@ 7,000 @ 9,000,000

I 112374

10

11

12

A = = -

3

14

15

16 | 17

ol

20 |21 |22

l19

23

24

25

26

27

28

29

30

w
—

32

33

34

35 |36 |37 I
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When Do Stores Sell Most of Their Tanning 0il?

Decide whether you would choose mental math, estimation, or a tool (paper and
pencil or calculator) to solve each problem. CIRCLE the letter in the appropriate
column next to the problem.

Then solve the problem. Find the answer at the bottom of the page and write the
letter you circled under it.

Choose: M méntal math, E estimation, or T tool

Prime Jr. High has 41 classrooms. Each classroom has 38 desks. About
how many desks are in the school altogether?

Prime Jr. High buys pencils to sell at the school store. There are 144
pencils in a box, and there are 24 boxes in a carton. How many pencils
are in 3 cartons?

The school bought 40 new electronic typewriters for its typing classes. If
each typewriter cost $500, what was the total cost of the typewriters?

The PTA at Prime Jr. High sponsored a book sale. A book company
brought 2,837 paperback books and 694 hardcover books to sell. |f
1,472 books were sold, how many books were not sold?

| Z m| o<
m | O| T | Cl|m
w | r < 34

This year 688 people came to the Prime Halloween Carnival. They
bought an average of 21 game tickets per person. About how many
tickets were sold altogether?

I
O
I

Prime Jr. High had a campaign to raise $10,000 for new computers. A
local bank contributed $3,000. The PTA raised $2,000 from parents and

students. How much more money must be raised to reach the goal of OlA|S
$10,0007? ’

Each day, Michelle attends 7 different classes. Each class is 50 minutes :
long. She also has a 10-minute homeroom class. How many minutes N LIP
does Michelle spend in class each day?

o O &AW N | —b

\l

8 The students at Prime Jr. High use an average of 6 different textbooks.
If there are 914 students at the school, about how many textbooks are ElA O
being used altogether?

9 Last year, Scott went to school 6 hours a day for 180 days. He also
watched an average of 23 hours of TV each week for 52 weeks. How M P S
many more hours did Scott spend watching TV than going to school?

$20,000

RAIMIMYI T O/LINNAL AAATLIWNIATLLY DI A 771 DI/ A



exercise. Find your answer in the code at the bottom of the page. Each time the

CHAIN CODE

These are called CHAIN EXERCISES. Do the steps in order from left to right for each

- answer appears, print the letter from the end of that exercise above it. (HINT: Look for
steps you can do mentally.)

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A
©1889 Creative Publicatione

A-BE1

Take 387 (B> add 29 [»| multiplyby8 [¥»| subtract1,725 . =G
Take 69 |p| multiply by 94 | multiply by 10 3 Sthr—act 5,581 = O
Take 7,000 |»| subtract4,267 [¥»| add 163 |¥| multiply by 6 =T
Take 90 || multiply by 80 || add 800 |¥| subtract 7,500 =E
Take 793 [®| add 793 (|| multiply by 40 || subtract 62,600 =A
Take 100 (»| multiply by 328 |¥| subtract29,014 || multiply by 7 = |
Take 5 || multiply by 800 3| subtract2,760 [¥»| subtract673 =Y
Take 4,004 || subtract 3,197 |®| multiply by 59 || add 887 =V
Take 200 || subtract162 [y| multiply by 80 || add 4,076 =M
Take 94 | muitiply by 77 [¥| multiply by 10 |»| add 6,950 =K
Take 500 (| multiply by 50 [¥»| subtract24,800 |¥| mulitiply by 47 =C
Take 86 (| multiplyby 73 |{®| multiplyby 1 (| subtract 5,290 =S
Take 999 |»| multiply by O 3| multiply by 999 [|®| add 999 =N
o < SECTSSSEEEEEESS S S E S S S EEEEETTOTOOTSTESEESSS SOTTESESEEECSSES
titte: CASH STASH EE
| 3
E 988 840 48,500 26,502 999 1,603 960 7,116 59,279 9939 500 567 :
E 7,116 840 79,330 500 988 28,402 9,400 500 999 17,376 988 ‘é

TOWPRIC Ao Boaviowrss AdAitinn Ciriblvtracmdiomm KA oldiem b m b imem



CRYPTIC QUIZ

1. What happened when Tarzan called the King of the Jungle?

1 7 3 17 16 6 13 1 5 14 12 9 14 2

2. Whom did Smedley Jolt ask to-help him cook hamburgers?

7 16 14 10 15 16 17 17 4 15 16 3 13 8

Do each exercise below. Find your answer in the appropriate answer column and
notice the letter next to it. Each time the exercise number appears in the code,
write this letter above it.

7,388 947 8,176 _ —
@ + 5067 @ — 269 @ « 8 Answers 1-8 Answers 9—17

@ 69 (5) 508 (6) 879 (E) 65,408 (1) 9.630

x 74 397 x 95 ’
+ 8,464

(7) 274x8600 (60 x 50) — (40 x 30) (V) 5716 (G) 65,746
(3 8501 (10 72600 () s8aes  |(K) 193400 || (U) 4,567

- 3934 - - 6854 x 6 (Y) e78 (R) 7.840

(12 17388 (18) 4,058 sss |(0) 83500 ||(P) 1,851

49 X 79 x 406
0,506 x 1~ ‘ 63,008 @ 350,058

+ 618 @ 5,106 ® 317,482

@ 10,000 — (8 x 5 x 54) @ Gyro bought a car priced at $7,589. He agreed to
make payments of $260 per month for 36 months.
How much more than the actual price will Gyro pay?
(100 x 27) + (10 x 693)




What Trick Can Any Horse Do?

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in
the spaces at the bottom of the page.

The United States has about 1,800 daily newspapers, 8,400 weekly newspapers, and 550
semiweekly newspapers. How many is that altogether?

The Sunday Times had 14 sections with an average of 16 pages per section. How many
pages were in the entire newspaper?

The chart at the right shows the circulation of the Daily Planet Daily Planet
in a recent week. circulation
A. How many c%ples were sold on the weekend (Saturday Monday 5841
and Sunday)? . Tuesday 7,430
B. How many more copies were sold on Sunday than on Wednesday 8,229
the day with the second highest circulation? Thursday 9,968
C. Round each figure to the nearest 1,000. Then add to g gfuaréay g'gzg
estimate the total circulation for the week. Sunday 14.507

An offset press can print about 270 sheets of paper per minute. Each sheet is cut to make
8 newspaper pages. How many newspaper pages can be printed in one hour?

A subscription to the Daily Planet costs $19 per month for delivery every day, or $15 per
month for delivery every day except Sunday. How much does it cost to receive the
newspaper every day for a year?

Express Press delivers 374 newspapers each day Monday through Saturday. On Sunday,
it delivers 590 newspapers. How many newspapers does Express Press deliver in a
week?

For a half-page advertisement, a newspaper charges $965 for each day Monday through
Saturday and $1,270 for Sunday. How much does it cost to run a half-page ad for one
week?

For classified advertising, a newspaper charges $11 per line for each day Monday through
Saturday and $15 per line for Sunday. How much does it cost to run a 6-line ad for one
week?

Daily newspaper circulation in the United States averages about 300 copies for every 1,000
persons. At this rate, how many newspapers woulc £ sold in a town of 50,000 people?

Ju Si MP TU NE RN AS CA _LL
4,539 2,834 | 129,600 | 94,600 | 15,000 | 17,000 224 3,239 | $7,060
SE RT WH OA AT EE SA UpP LS
10,750 | 11,720 | $6,460 | 68,000 $486 $318 24,420 $228 75,000
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A-55
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TOPIC 5-c: Estimating Quotients: Compatible Numbers
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Math Without Computing

14 R39

50)739

Use the quotients in the box above to answer the following questions:

4 1 " Scott has 100 stamps to put in an album. He puts 8 stamps on each page.
A. How many pages will be completely filled?

B. How many stamps will be left for an unfilled page?

C. How many pages will be used altogether?

2 A group of 20 friends are going camping. They will sleep in tents that each hold 3
people.

A. How many tents will be full?

B. How many people will be left for a tent that is not full?

C. How many tents will be needed altogether?

3 The 739 students and teachers at Merry Middle School are going on a field trip.
Each bus holds 50 passengers.

A. How many buses will be full?

B. How many people will be left for a bus that is not full?

C. How many buses will be needed altogether?

Hugo made 100 ounces of lemonade. How many 8-ounce glasses can he fill
completely with this amount of lemonade?

An orchard has 739 apple trees to plant. If 50 trees are planted in each row, how
many are left after the last complete row is planted?

The coach needs 20 tennis balls for a tournament. If tennis balls are sold in cans
containing 3 balls, how many cans should the coach buy?

A total of 100 kids signed up to play soccer at the park. Each team has 8 players.
Extra players are substitutes. How many substitutes are there?

Maria has $20 to rent video movies. If it costs $3 to rent each movie, how many
movies can she rent?

A teacher needs 739 sheets of paper for a class project. The paper is sold in -
packs of 50 sheets each. How many packs should the teacher buy?

O OO N O O =




Maze Phrase

Do each exercise and find your answers in the maze. SHADE IN each room that
contains a correct answer.

Then find a path to the Treasure that goes only through rooms you have NOT shaded
in. The words in those rooms wili form an a-mazing message!

@ 4,430 + 6 @ 8,869 = 3 @ 2,854 +7
(4) 16,298 +5 -~ (5) 22540+ 8 () 27962+ 4
@ 45,747 = 9 42,7657 @ 76,992 + 2
28,560 + 6 @ 05217 + 3 @ 87,137+ 8

@ A school district received a grant of ' The Schmaltz Band bought an amplifier
$6,840. The money was divided equally for $1,260 and two speakers at $375
among the 7 elementary schools and 2 -each. If the 5 members of the band
high schools in the district. How much divide the total cost equally, how much
did each school receive? will each pay?

38 481 ' | o 5990R2 |
DOUGH TR EASURE LEAKS [
8.405 R2 $752 6,109 R2 $690 10,874

COST AUTO KNOW DIVISION IMPROVE

1
t 1
&
11

2 824 3,259 R3 738 R2 38,496 5 064
DOLLARS CARS OFTEN DO THEY

t
1
i
1

8,426 : $424 10,892 R1 736 R4 4,784
FUN BUYING CLOTHES TODAY BECAUSE

t
1
t
1

$760 3,257 R4 10,885 8,409 R3 5,083
FREE BE WEARING GLASSES ARE

t
T
;
T

38,475 6,108 R5 407 R5 $402 425
WANT SHOULD DRINK WATER BEDS

t
T
t
T

B 2,956 R1 6,982 4,760 $418 4765 R2 -F
MIGHT YOU PEOPLE HOT KING
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What Do Goblins Ride At A Carnival?

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in

the spaces at the bottom of the page.

@

©

Deke, Zeke, and Geke each bowied
three games.

A. What was Deke’s average score?
B. What was Zeke's average score?
C. What was Geke's average score?

Name Game1 | Game2 | Game 3
Deke 126 153 135
Zeke 109 82 97
Geke 127 138" 155

In 8 football plays, Grunge Helmet had gains of 5 yards, 12 yards, 7 yards, 0 yards, 3
yards, 4 yards, 15 yards, and 2 yards. What was his average gain per play?

The scores of 4 students on 5 different tests are given in the table. Find the following:

The average of Sam’s scores.
The average of Teri's scores.

The average of Kim’s scores.

The average of the scores

on Test 1.

The average of the scores

on Test 4.

ooOowm>»

m

Test Test Test Test Test
Name 1 2 3 4 5
Sam 84 93 91 75 82
Teri 87 65 74 80 74
Andy 94 78 87 71 100
Kim 79 86 100 94 91

Zorna ran 6 laps around a 440-yard track. Her lap times were 89 seconds, 93 seconds,
97 seconds, 102 seconds, 95 seconds, and 88 seconds. Find the following:

A. The average time for the first 3 laps.
B. The average time for the last 3 laps.
C. The average time for all 6 laps.

A salesman for Tickle Toys travels in 4 different states. In 9 weeks, he traveled a total of
18,846 miles. Find the average number of miles he traveled per week.

Elmo Buckets played in 7 basketball games. Altogether he scored 88 field goals (2 points
each) and 13 free throws (1 point each). Find the average number of points Elmo scored

per game.

Racquet World sells an average of 45 tennis racquets per month. At this rate, how many

racquets are sold in one year?
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Why Do Dragons Sleep During The Day?

Solve each problem below and find your solution in the answer column. Write the \
letter of the answer in each box containing the number of the problem.

During winter vacation the 5 members of the Scott family went The Scott Family
on vacation to a ski resort. They drove 336 miles in 7 hours.

What was their average speed? name age
MrScott . . 40

The Scotts rented a condominium at the resort for 6 nights. - Mrs. Scott 39
The price was $120 per night for 2 people, plus $15 per night Dan Scott’ 14
for each additional person. Susan Scott 13
A. How much did the Scotts pay per night? Mike Scott 10

B. How much did the Scotts pay for 6 nights?

AAAAAAAAMMAAAAAAAAAAN

@ Lift tickets at the resort cost $28 per day for adults and $19 Answers:
per day for children under 12. The Scotts skied for 5 days.
A. How much did the Scotts pay for lift tickets each day?
B. How much did the Scotts pay for lift tickets altogether?

@ The top of the mountain has an elevation of 11,640 feet. How
much higher is this than the base of the ski area, which has
an elevation of 8,385 feet?

@ The ski resort has 9 chairlifts. Each chairlift has a capacity of
870 people per hour. The lifts operate 7 hours per day.
A. What is the total lift capacity per hour?
B. What is the total lift capacity per day?

One evening the Scotts went to the Chalet Restaurant for
dinner. The bill was $67.65. Mr. Scott paid with four $20 bills.
How much change should he have received?

@ A total of 19,035 people skied at the resort during the 5 days
that the Scotts skied. What was the average number of skiers
per day?

During their vacation the Scotts took 173 pictures. They put
them in an album with 6 pictures on each page.
A. How many pages were completely filled?
B. How many pictures were left for an unfilied page?

QOERE®@EEEOE@OE®E
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Did You Hear About ...
A B C D

E F
‘G | J K L
M o P Q R
?

Do each exercise and find your answer in the appropriate answer column. Notice the
word under the answer. Write this word in the box containing the letter of the exercise.

Answers A-l:

6 R29
FROM

8
TO

54 R18
HIS

9R17
FIT

4 R9
THE

6 R13
WHO

17 R21
HAIR

24 R11
GO

9 R33
HAD

7 R28
KID

23 R6
GET

16 R32
WORK

5 R56
FINALLY

55 R3
SOME

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A A A=

A N N gt R

® ©

301129 80]588 501313
@ 90J506 @ 40]393 @ 60480
@ 701,616 @ 30]1,638 @ 40701
@ 90/3,480 @ 50J4,600 @ 8074,834

@ 1,891 + 20 @ 15,207 = 60
@ 53,875 + 70 @ 16,327 = 40

A recycling center received 3,250 pounds of
newspaper. It was tied in 50-pound bundles. How
many bundles were there?

Traveling at 40 miles per hour, a car uses 30

gallons of gas to travel 810 miles. What is the
average number of miles per gallon?

Answers J-R:

769 R45
STAND

409 R23
TO

93 R3
TIME

65
ANY

94 R11
MOTHER

24
SHAMPOO

92
BECAUSE

27
LONGER

62
THAT

253 R27
COULDN'T

408 R7
IT

38 R60
CUT

768 R9
WASH

60 R34
HIS




What Did the Mama Ghost Say to the Kid Ghost?

Do each exercise and find your answer to the right. Write the letter of the answer in
the box containing the number of the exercise. If the answer has a . , shade in the
box instead of writing a letter in it.

327708 @ 797765 @ 477764 %2222 %i:g

. ®6R31 ‘A4R16'

93J505 @ 63)268 @ 81)570 (D) 3R12 (R) 3R2s3
®7R3 (V) 5Rs

®2R14 @sms

56237 24]224 @ 37]250 O (L) 8Rse
®5R69 @4R13

@9R8 ®7R16

731434 © 17170 ®@ 69)552 s (1) sRas
@4R26 ®6R28

‘4R2 @9R13

@ 44347 95J935 39J93 %;212 ?22?5
®9R80 ®6R42

861628 @ 501448 62]191 ®3R24 ®8R48
(E) 7R39 @9R36

@2R6 ®7R26

456 + 76 172 + 29 @ 8 @ 5 R27

Eric took 144 pictures while on a 5-day camping trip. He used
film with 36 pictures on each roll. How many rolls of film did

he use?

Hilary is cutting strips of crepe paper to decorate for a party.
Each strip is 42 inches long. If she has 400 inches of crepe

paper left on a roll, how many strips of this length can

she cut?

4 |20

10

14| 5

16| 7

12

15

22




Favorite Class at Caterpillar School

The name of the FAVORITE CLASS AT CATERPILLAR SCHOOL is hidden in the
rectangle above. To find it, do each exercise and locate your answers in the
rectangle. Shade in each area containing a correct answer.

) 27 @ 31738 (3 67338 @) 477488
@ 94)309 @ 56)486 @ 721441 35)164
(9) sorez3 17797 (D garsag 12 401738

@493+54 250+97 @'160+26

Steve has 276 slides to store in carousels. Each carousel holds 75 slides.
A. How many carousels will be completely filled?
B. How many slides will be left for an unfilled carousel?
C. How many carousels will be needed altogether?

There will be 142 people at the Goldenglob wedding reception. There is room for 16
people at each table.

A. How many tables will be full?

B. How many people will be left for an additional table?

C. How many tables will be needed altogether?

Mr. Jolly is building a fence around his yard, a distance of 272 feet. Each roll of fencing is
50 feet long and costs $69.
A. How many rolls of fencing should Mr. Jolly buy?
B. How many rolls will be completely used?
C. How many feet of fencing will be used from the last roll?
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Crack the Code

A CRYPTIC MESSAGE is written in code at the bottom of the page. To decode:
Do each exercise below. Find your answer in the answer column and notice the
symbol next to it. Each time this symbol appears in the code, write the letter of the

'~ exercise above it.

@ 371246 @ 84J691 @ 56440

@ 23)886 @ 45]3,290 @ 693,903
@ 72)6,120 @ 34]2,069 @ 91)3,294
@ 884705 @ 53)2,523 @ 65)6,038

@ 3,738 = 49 @ 7,023 = 87

Mode Middle School spent $4,060 on new tables and $944 on new
chairs. Each table cost $70. How many tables did the school buy?

CRYPTIC MESSAGE

0 — X[ = LIll[e

LT LY

o o] ||

el G = [o [I[e
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38 R12
55

92 R58
56 R39
8 R8
58

75 R26
6 R24
60 R29
7 R48
37 R7
92 R36
54 R43
73R5
84 R51
47 R19
76 R14
85

80 R63
8 R19
47 R32

36 R18



What Is A Cow On Sale? |

Do each exercise below. Find your answer in the answer column and notice the letter
next to it. Look for this letter in the string of letters near the bottom of the page and
CROSS IT OUT each time it appears. When you finish, write the remaining letters in
the rectangle at the bottom of the page.

| @ 6§)T,7% @ 39)2,137 @ 85'T7—,1_1\7> @ 502 R29
(L) 28
(W) 150
@ 417 R34

@ 18)6,282 ©), 267,425 ® 57)23,803 (D) &3 Rse
@ 284 R6
(V) 27 Rs
@ 16

@ re73a0 wmas (O oser7es 3 () 93BR4O

11,721 = 67 @ 26,256 + 32

@ Cash Bucks invested $13,350 in shares of TNT Corporation stock.
Each share cost $89. How many shares did he buy?

(13) The Eiffel Tower in Paris is 985 feet tall and has 1,792 steps. If you
climb at the rate of 56 steps per minute, how many minutes will it
take to reach the top?

@ A printer has 800 inches of paper left on a roll. The paper will be cut
into sheets 48 inches long. How many full sheets can the printer cut?
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What Do You Call
A Frog That’s Stuck in the Mud?

Solve each problem and find your answer at the bottom of the page. Cross out the letter
above each correct answer. When you finish, the answer to the title question will remain.

The Flyck Theater has 38 rows of seats on the main floor. There are 26 seats in
each row. How many seats are on the main flpor altogether?

There are 234 séats in the balcohy of the Flyck Theater. There are 13 rows with the
same number of seats in each row. How many seats are in each row?

The chart shows the number of films of Type Number
certain types shown at the Flyck Theater Comedy 361
in the last 10 years. How many more Drama 244
comedies than action films were shown? v Action 138

Last week the theater had a double feature. The first film lasted 119 minutes. The
second film lasted 107 minutes. There was a 15-minute intermission between films.
How long was the entire program?

A total of 2,694 adults and 980 children bought tickets at the Flyck Theater last
week. Each adult ticket cost $6. How much was paid for the adult tickets
altogether?

The manager of the Flyck Theater earned $29,640 last year. How much did he earn
per week? (1 year = 52 weeks)

Film travels through a projector at a rate of 170 feet per minute. How many feet of
film are in a motion picture that lasts 120 minutes? ‘ :

One night, the Flyck gave a prize to every 25th person who bought a ticket. A total
of 610 people bought tickets.

A. How many prizes were given?

B. How many people bought tickets after the last person who won a prize?

In a recent year there were 18,772 movie theaters in the United States. Of these,
15,837 were indoor theaters and the rest were drive-ins. How many drive-in
theaters were there?
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What Kind of Monkeys Like French Fries?

BIGIRIBINIDIAIEINIE

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in the
spaces at the bottom of the page.

© ©

@ e 060 60 60 6

The County Fair was held for 9 days during August. A total of 26,010 people came to the
fair. What was the average attendance per day? ,

The price of admission to the fair was $4 for adults and $1 for ¢hildren. On opening day,
3,576 people attended the fair, including 1,830 children. ‘ " :

A. How many adults attended the fair on opening day?

B. How much was paid for admission that day altogether?

The fair director bought advertising in the local newspaper. He bought 10 half-page ads
at $240 each and 3 full-page ads at $390 each. How much was paid for these ads
altogether?

The high temperatures for each day of the fair, in degrees Fahrenheit, were as follows:
85, 78, 80, 87, 93, 90, 84, 87, 81. Find the average of all these temperatures.

Ramon worked selling refreshments at the fair. He worked 8 hours a day for 9 days and
earned a total of $432. How much did Ramon earn per hour?

For lunch Jonathan ordered a cheeseburger for $2.45, French fries for 85¢, and a
milkshake for $1.35. He paid with a $20 bill. How much change should he have received?

There was a Ferris wheel at the fair. Becky read that the original Ferris wheel was built in
1983 at the Midway, Chicago. The wheel was 250 feet in diameter and had 36 cars, each
seating 60 people. How many people could ride at the same time?

Corrals were built for sheep brought to the fair. Each corral could hold 75 sheep, and
there was space for 1,350 sheep altogether. How many corrals were built?

Mrs. Penner made a quilt to enter in a competition at the fair. First she made colorful
squares, using 16 pieces of fabric for each square. Then she sewed the squares
together. The quilt had 12 rows of squares with 8 squares in each row. How many pieces
of fabric were used altogether?

- AP
$8,814

AS
$15.35

ES
85°

PO

OR

TA

T0

16
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$14.45
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TOPIC 6-b: Base 2 Numerals



~(+ Test of Genius =)

1) How many triangles can you count in
this figure?

:2) One hundred automobiles were lined
up bumper-to-bumper. How many

bumpers were actually touching each
other?

@ Fill in the circles with the numbers 1, 2,
3, 4, and 5 so that no matter which line
is added, the sum of the four numbers
will be 12.

@ A baseball team played 150 games. It
won 30 more games than it lost. How
many games did the team lose?

@ A pogo stick cost $30. A scooter cost
$40 more than the pogo stick. A bicycle
cost $50 more than the scooter. What
was the total cost of all three?

In the following subtraction problem,
the letters A, B, and C stand for three
different digits. What digit should
replace each letter?

ABA
— C A

ADB -

Four trees lived in a row in Happy

Forest. They were red, green, yellow,

and blue. The red tree was not next to
the green tree. The blue tree was to the
right of the green tree. The yellow tree
was first. In what order were the trees
lined up?

The toothpicks in the drawing have ,
been arranged to form six squares. (
Which five toothpicks can be removed

to leave only three squares?

You have 10 dollars. If you give away
all but 3 dollars, how many dollars do
you have left?

SCORING KEY

8 or 9 — Superstar Genius

6 or 7 — Star Genius L
4 or 5 — Genius ) \
or less — Genius
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NOTE: You may also want to ask students to write the correct answer for
each incorrect statement.

e Get the Message \%%‘

' Eacn row contams two correct and two mcorrect statements
Curcle the wora abave each correct statement When you

f firusn, read e circled words and you will ger the message’

DID ( SOMEONE CFINALLYD HAS

(5x8)+4=32 | (3xB)+7=31| (4x4)~2=14] (98 -9 =62

HIT CUROTE) BOOKS CAY

(8BxB)+5=49 | {(7x5)+6=41 | (4x7)-8=22] (9<3)-3=24

BOO REPORT ABOUT (_THAT ;

(6x6)+0=45 | [3x6]+5=21 | (Bx5)~7=37 | (29 -a=14

CEXPLAND HAS Cow WHY

{(5x1)+8=13 | (7x8)+6=61 (6x7)-8=33 | (Bx9)-3=74

SOME PEOPLE CIoD CrxD ]

(5x5)+1=28 | (3x7)+5=24 | (4xB)-7=25] (9x7)-4 =59

BROKEN CCLOCKS) WHEN

(7x7)+3=54 | (6x9)+6=60 | (5%x9N-B8B=39 | (BxB)~2=62

OTHER @ s VERY

(0x3)+7=11 | (9x4)+9=45 | (5x7)-6=29 | (4x6)-4=26

C ABOUT ) ONE GOOD LTIME_ )

{2x5)+3=13 {9%x9)+8=86 {7x6)-7=37 3x4)-1=11

OUCH
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Make When They Kiss?

What Sound Do Two Porcupines
This multiphcation table contans exacily 54 correct answers. The
answer. Be sure 10 use pencil 50 you can erase | necessary.
OINISOD TSI —
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What Do You Call a Popular Perfume?

Salve sach problam and find your answer i the rectangle below. Cross out the box that
cantains your answer. Whan you fimsh, write the letiers from the remaining boxes in the
spacas at the bortiom of the page.

O Larry bought 7 medium pizzas from Pizza 7 -
Heaven. : Pizza Heaven
a. How many piecas did he get? %2 I NumBer Bres
b. What was the total cost? [V 9 : of Pieces
:) Sherry bought 1 small pizza and 1 radium pizza | small 4 55
a. How many pisces did she get®  J O
b. What was the totat cost? 2 ' medum 6 $7
rJ Parry bought 2 small and 3 large pizzas k
a. How many pisces did he gat? 3 2 ;  large 8 39

b. What was the total cost?

Mary bought 6 medium and 8 large pizzas.
a. How many pieces did she get? | OO0
b. What was the 1otal cost? L4

@ Barry bought 9 smali and 4 medium pizzas.
a How many pieces did he get? & O
b. What was the total cost? T3
@ Kerry bought 6 small pizzas for a group o! 8 geople.
a. How many pieces did she get?
b. it divided equally. how many pieces will each person get? 3
O Jerry baught 5 medium and 3 jarga pizzas lor a group of 8 people.
a. How many pieces did he get?
b. it divided equally. how many pieces will aach persan get? 6

. Terry bought 4 large pizzas for a group §| 6 people.

a. What was the total cost? ? %
b. if the cost 1s divided equally, how mluc aach person pay? $ 6

@ Gary bought 6 small and 6 madium p|%as for a group of 8 peopte.

a. What was the lotal cost?
b. if the cost 1s divided equally. how thuch will sach person pay? s q

AB ES TS
$41 96 31

ME LL ER
$77 5 51

ABIE|ISITISIMEILILIEIR
A BEST SMELLER
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Why Is It Dangerous to Do Math in the Jungle?

Mark each pox containing a number that does 1ot betong in that
raw Then wrie the leflers Irom these boxes on the lines at the right

5 0 15 20 25 30 35 40 45 50
S A H X S ET N O P JIF
2 i1/ 12 14 16 18
T I L K G A YouU
"M_uymp_nés— 0Ny 8 16 24 32 40 48 56 s 72
of 8 N L 8 K N- bD
Mu.l;lg;es 0 3 & 9 12 15 18 21 24 27
ot 3 K N UM I H B R E
Multples 0 6
L

0 TN 8 24 30 96 %97 42 48 54
ol 6 P O R F ET S T E AND

Multiples
ol 5

—o

Mump!es
ot 2

‘Mm_n;;r‘e:‘dwf’ 18 27 36 45 54 63 72 31

ot 9 F I TWH E OV
_Mu,_[,p;s 4 12 16 20 24 28 32 36

of 4 H A E S V N G L R You
o 0o 7 21 28 35 42 49 56

of 7 H C A \ N S WiLL
" Even 8 N/ 14 10 2 16 12 0 10
Numbers S O A I N O U R O ET

" ods 5 13 17 7 18 1 15 1 3 ]
Numbers E T E | L GRH S M ATE

Multipies
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< o = 3

s = 3 e

o @ " ° 0

E 5 5 -

g 3 g ~

£ = k] S

w o [= z -
0
m

!

ﬁ] factors ol 54

ta e

o

5 ! lactors ol 49
' 0

11| tactors of 72

“JE

4
TIH|E

g
L2 g s 3
£ —
Ej @ @ "
3 I I n
o 52 g s * g Fy =
5 £ C@E@: g a
2 CE = - x
e s Iy o -
c 2 i l:‘e Q
22 °
b= 0
§ T : : S -98 - >
@ - 4 e e
p=N-] 5 = = [
= o Q o
3 o o @ 0 ®
x € s & B e ™
£ 52 kS k] k]
g 2 - o & -
»n 26 Rl G e —_—
=35
-5} 5]
g3, = 8 e
- Bz& 3 s
o faep w w
= 843 5 g <
2ES © S
8 82 2 =
cuag = _—
Sit v B 0§
2 533 =
§ g5 8 £ 3
i feeienice -—
[ v G o o ————
- 523 8 E @ 5 2w
® S35 8 5 \ U( S w -
s BEE = = = -
£EE =
2x% - o o I
228
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When Is a Lady Not a Lady?

Do each exercise and hnat your answer in the sei of answers to the nght. Witte the letter of the
answer 10 the box containing the number of the exercise.

A blue whale could weigh more than 294,350 pounds. {'TA\) 2 ,}? 3
Guwve the digi n each place named \:\ —

T iens pace & @ hunareas place 3 s S W s
=

3% thousands place "4 fen thousands place q VB s Do
30 thou pace 4 4} p 5 I

In one year. an etephant might eai 102,845 pounds
of hay Give the cigit n each place named

5 anes place '\S/\ ten thousands place O
=, 3
7. hundreos place 3 :O hundred thousands place l 3y

@ | @

The number of species ol beetles 1s mare than 216,750.
Guve the thigit in each ptace named

? thousands place 6 TD\I hundred thousands’ place 2_

@G

1

®
OE@O@E

@ tens’ piace 5 zz\ fen thousands’ place | s (_@ 6 0
Write the number in standard form {F) 563.718
5) 700.000 - 10,000 - 5.000 ~ 800 -~ 30 - 6 7[5 836 {1y 715.836
’w 500.000 +~ 30.000 + 6.000 ~ 700 + 10+ B 556’1‘6 l® 318.657
5] 8.000 - 10.000 - 50 - 500+ 7 - 300000 3 | @ ¢ B ] N) 53718
~ ]
Wrile the number m standard farm § @ 804.729
16) 800.000 - 40.000 - 7.000 - 200-3 B 47T, 209 7T) 847029
17 800000.4000-700+20-5 Qg 4,729 (©) s47.200
{18} 800.000 - 46.000 + 700 + 20 « § 840,729 (5) seng29
~ ?
Wnie the number in standard form. (/FT 409.206
19) four hundred mingty-two thousand. six hundred ""q 2,600 432,600
s ‘
(/2\_2) four hundred ninety thousand. two hundred sixty l{ qo, 160 @ 490.026
€1} four hunared rine thousand. wo hunared s 1. 0 q | 2 0% | (E) 492.080
’\_‘) four hundred ninety-two thousand. sixty Lf q 2.0 ‘o @ 490.260
[}

0 1 12 13 14 15 6 17 18 19 20 2%v:i22
IHHENISHEITURNS INTORARS TOR
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TOPIC 2.8 Rounaing Nearest 10,100 or 1.000

TOPIC 2.0 Companng ano Graenng Numpers

A-21

reauve Pugncaters
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;%:

i

3
R

|

|

(1) s42,000
(9 s.000
(1) 57.000
(D 641000
(3 s.200
@ 170.000
(17) 6.200.000

i

380,600 (12) 9.600
000 (19) 2.750,000

30,000 (23 2.740,000

570,000 (z5) 6,190,000

160.000 () 90,000

2
4

,.(

J
®eoee ANSWERS ¢ e e o

ee e ANSWERS o eoo
@) 9.700
(29) 380,700
0 4,900
@) 57100
(@ 5300
@

(®) 150,000
(3 40,
(@ sa0,000
(19) 160,
@)

®

13
o
8
19
23
L7

20
12
iy
z2

57,029 | g

(D 30677 26

Round to the nearest ten thousand.

@) 3640

Round 1o the nearest hundred

@) s.280

(0) 95643

(8) 4957

() s7.092

®

(H) 641,008 |
(® 93700
(v) 166450 25
W) s72.119
(s) 160888 v
(H) 2744500

jacent answer columns. Write the

(18 7.000
(8) 17.000

16,000 (17) 248,000

(@) 250.000
@

(1) 249,
@) 4000
7

L

® 000 ANSWERS s ese
(©) 173460
@) 44080
@) 2680
©® 00 ANSWERS oo e o
(® 5000 @ so.000
(8) sa000 (3) s2.000
249,000 (11) 81,000

@) 78510 () 8200

(8) 2670
(12) 44,080 (@ 13470
@) 870

(o) seo
(18) 78,500
(@9 8090

your answer in the adj
box containing the number of the answer.

10
7
8
q
28
1

499
2,066

How Was Icky Snerd Driving His Parents Crazy?

Do each exercise and find
found to the nearest thousand.

letter af the exarcise in the
Round 1o the neares! len
®) 7300

(W) 249170 14}
(® 290710 2

@ 4.508
(® s

W s

(s) so.73s |

TOPIC 2+ Rounaing

A-23 10100, 1 000, o
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20 o1 (22 (2324 |25 |26 |27

|

18718
S

16
S

(P) 6.196.370

o[ 7z]i3
HEN

5 16
\ Y

5
A

THBlEH AV ]I

E

e

i)
af

8

I

walslal

ﬂ

k)
=~

Nearast
* 10.000

Why Do You Get A Wig From The
Acme Wig Company So Quickly?

For each exercise, wnite the mussing number in the biank. Then select the property
lustrated. CIRCLE the letter in the appropnate column next (o the sentence

At the borntom of the page. find the box cantaining the number you wrote in the blank.
Write the letter you crrcled in this pox.

commuiative associative  identity
property  property  propenty

O

Zi>»|<|T

1 2+3="3!+2

2 43 +:39[=39 +43

3 21+0={2}4

4 i63+0=60

5 4+5+6=4+5+0) -
6

7

8

9

\

(74 + 29) + 83 = T + (29 + 83)
15+ (33+6)=(15+33)+6
149 +{ 0 ]=149
70 +80=80+170
10 1214+ 586 =586 + 211
M (5+19)+14=5+ (19 +14)
12 {37+ (64 + 55) = (37 + 64) + 55
13 B+|{43=43+8
14 99+0-=199
15 352+87 =[BT +352
16 (93 + 45) + 6B =93 + (45 + 68) |
17 (5T+0=51 :
75 + (225 + 30) = (T3] + 225) + 301 K

21 33-3 ;21 30!'68! 6 70199'45:37@74]17475119 60-51143.39! 0

THEY ISEND VT HAI RIMAI

CDCOZr‘em m’ﬂ@@OO

o

mm@.%@>.‘m@@rmo>még
z@g E S SEIE m@a@

| 87
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A-24

TOPIC 4-a Basic Propares af Asaifion

$1375.16

$831.38

Do the exercises below and find your answers in the rectangle. Shade in each area

containing a carrect answer. You will discover whal dentists hate! D K ( d eca y)

O ® . = ©. = ©

869
+ 37

Y72 902 I, 418 706
(5) sz 6) 8.005 an7 9.646
. a7 O + 8,375 + 7.638 - 956
8,185 17,380 12,355 10,602
S4.728 77.436 1) 13.721 (3 38.964
+ 5.703 + 65.918 + 8.090 . 47.276
60,43} 143,354 21,817 86,2490
13 $6.79 —
$54.60 §917.55 16) $726.16
- 298 + 18.45 ® + 63.84 ©, 839.00

$9-77 $14.05  $981.39

D) 587.50.967:”56' @ 8'415‘%79,323

MIDDLE SCHOOL MATH WITH PIZZAZZ) BOOK A
21889 Craaive Pubicanons
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$1565.16
@ 6,346 + 879 7‘ zzs‘ 4,607 + 25.7 BoJ 405 $338.75 +§2§ae'35

48.000 + 4.800
@ 53,900

TORIC 3.0 Adamon Two Aodends

What Do You Get When You ...

+ Cross a rabbit with a lawn sprinkler?

3 Cross iwo turkeys with a coal production company?

M | N ER B | R DS

296 8B8.472 1944 1502 94700 1.734 14.771 88.472 34.700 60.511 &.289

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:

Da each exercise betow and find your answer in the code. Each time the
answer appears. wnite the letter of the exercise above if.

0) a1 ORRZT 8) 1078 48.350
~  6a ' g ® 5.456 9.666
- 3 .« 3679 . 8.237 + 2.495
775 \Z, 105 ®,771 60,511
— —_
E 618 (H) 3954 1) 81449 T) 42,671
= < e W 193 90.553
85 588 6.756 52,896
. 462 + 9051 .7 . 77147
1,502 14,232 88,472 263,267

(5)2es5+839.5185 6,289 (M73+20.58.96.45 296
©)4a706+49-6618 50,373  (N)es3+72.3. 90460 |, THYH

Use the table at the nght for the next three questions.
@ What i1s the combined area of the lgavgegl%as”
o sqQm

P Ama
Great Lahes . (square miles)
p—— e

Ene | 9.940
(P) What s the combined area of the thgﬁqsmaéea lakes? Huron 23.010
29,0880  sam : pichgan | 22.400
® What ts \he combined area of all live laﬁs:} 700 « | Omano ! 7580
2 sqmi © Superior | 31.810
MIDDLE SCHOOL MATH WITH FIZZAZZ BOGH A
TOPIC 3-c Acsihon Thrae or More Agdanas A-26 1965 Croawe Pusicanons
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Did You Hear About

A iB 1c 0 E IF
THE | NEW BuBwWAY ' SYSTEM WITH TRAINS
G TH ! i 3 L
THAT i RuN | ALL [ OVER  TowN BELOW
M N 1£e] P G R
THE GRoUND! oN (THEIR 5UB |TRACKS-

Do each exercise and hng your answer :n the appropriale answer column Notice the
word under the answer Wrile Tis word :n (he box contaiming the ienter ol the exercise

Answers A-i: Answers J-R:
T35 185 A Toe B 807 C 5706 3435
GO -5 . - 383 T - 2928 ON
e 548 8,634 2,778 “Saevs
NEW WHEN
37655 D ssag B, 800 Y To.ae0 70.290
RUN - 3850 - 6275 - 5809 GROUND - -
595 599 1,126 4,551 52175
SYSTEM TRACKS
548 E Jr.ear E 50.000 I 9,722,600 $6.480
THE - 25593 - 12.345 = 4909618 WHEELS
65.151 L,028 37,655 4,812,982  sutes
CARS QOVER
2812982 T sar2a K, $7050 L, 800.00 $86.56
ALL ~ - 964 -371 T - 6025 THEIR
1.726 $37.65 $73 $34.75
WITH $ 31.79 739.78 AROUND
6.088 M 5.280 < 39, N} 71.000 -1 §739.75
THAT \é 0.0 '.‘366586 %/\ $90.05 ‘93&49 290 BELOW
e R} 1 N
2.778 = $ys L €§ 4.886
SUBWAY C‘, Ms. Twmkle bought a car tor $15.00 ve years THE
e — ~ later. she sold the car for $8.350. How much less
4.837.962 was the sethng price than the ongmal purchase §6.650
UNDER pce” § 6. 65 sue
54,551 - 2650 384,66
TRAINS R Leonarco bought one oil pamting for $3.150 and CITY
—— e another for $4.675. Later. he soid both pantings PR
5.578 togetner for $10.00q. How much profit did $31.79
BIGGER Leonardo make? TOWN
e 2,175 AL
MIDELE SCHOOL MATH WITH FIZZAZZ BOOK A
“QPIC 3¢ Sumracion Wur Zercs A-28 1989 Craaive Puicalons

Do each exercise ana hnd your answer in the rectangie beiow Cross out the box that B
. contains your answer. When you hnish. write ihe letters trom the remaiung boxes v
i the spaces at the bottom of the page :

D 187 2 4785 3. 94.276 a 70.831
= - 5.966 e ~ 11397 e - B.OS9 ~ - 4674
,783 3,388 102,335 66,157
B 2,995 {5 56.148 7 6688.914 OREICEL
~ 386 ~ 661 ~ 392.806 4.087.556
. 8270 . 7548 . 45777 - 2.269.449
11,651 64,358 ,127,497 4,850,286
gy 31.835 N0y 754800 T 905416 12)  5.000.500
=~ 14308 e ~ . 3e8087 B s
16,927 92,878 507,349 4,972,966

Matt orcered a Gataxy Burger and a Milky Way Shake
Karen orcered 2 Moon Burger and alarge Suaci Drink

,155

Galaxy Burgers
Ci Cnan

13‘ Haow many calores were in Man's meal? calones

Galaxy Burger 725
\4; How many caiones were in Karen's meal? SO
4 S Star Burger 480
151 How many more catones were in Ma1s meal than 0 Moon Burger 365
Karen s meal?

Astro Fries 290

Jenmier oroered a Star Burger. Astro Fries. and a small Space Dnink
Saturn Aings 195

Mike orgered a Galaxy Burger. Saturn Rings. and a Mnlkygpy Shaxe

16) How many calones were in Jenniler s meal7 Milky Way Shake 430

Space Drnk. large 140

7 How many calones were in Mike s meai? ] 3 SD
! Space Dank. small a5

&)=

¢

) How many more calo¢§w§g n Mike s meal than in

Jenniter's meal? “Our Eurgers Are Meteor™

92.87) 3 4913, 966 m% X

%X}i uszozas K){ 1.280
}& 503.449 785! % 1145497 )@(X
BE-cozzvs GNAL

A BUZZY SIGNAL
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK A

+ 1889 Treativa Pybhcanons A-29

TOPIC 3+ Rewew Agomion and Subirachor

Why Don’t Many Barbers Join the Army?

Esumate eacn sum or difterence Cucle the letter of the better chowce Write this
‘atter n the DOx contaimng the numper of the exercise

1,83 -39 23457 3.91-62
D aoout '00 @ anoul 60 L apnout 50
@ about 20 B aoou 120 @ about 30

4.47 . 252 5. 758 - 19 ‘ 6. 517 - 184
G about 26C U about T1C about 700
apout 300 aoout -40 E about 900
7.525 -~ 308 8. 1892-72) - 4109
'K about 400 P apout 1.500 about 4.400

@ about 500 @ about 1.200

V about 4 800

10. 336 - 580 - 127 11. 8195 - 7 606 12.3230- 5799
about 1.000 L’ about 13300 about 3.000
O about 1.300 @) avout 16000 W' about 1.000
13. 45307 - 1.853 14. 29974 - 6,838 15. 1710 - B.926 - 5235
C - apout 40 000 } about 23 000 about 18.000
about 43.000 R about 26.006 “L: about 22.000
16. 5784 - 5935 17. $18 56 - $6 53 18, 51,98 - 52209 - $4 67
P about $14 S’ about 310 aoout $29

@ about $17 @ aoout $12 , about 332

19. Vailey Vigeo owns | 713 video tapes 20. Dinner costs 328 35 Tax and tip
Of these. 288 are renteg out Aboul together agd $6 83. About how much
how many are not rented out? change shauig you get trom a $50 bill?

E, apbout $12 @ apbout $15

2t 5 0 8 B3 2 8

HEY J0IN THE WAIR FORCE

‘B’ about 1.200 @ about 1 400
B
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What Kind of Birds Jump Out of Airplanes?

Solve each prablem below and hind your solution m the answer column. Wnie the
letter ol the answer n each Dox contaiming \he number of the problem

'E\) Kent weighs 139 pounds and his bicycle weighs 31 pounds. Jill
weighs 106 pounds and her bicycle weighs 28 pounds. How
much greater 1s the combined weight of Kent and fis bicycie
than the combined werght of Jill ana ner bicycle?

o pounds
} Janet and Andy bowted three games. Janel s scores were 119,
S6. ang 145 Andy’s scores were 127 74. and B8. How much
greater was Janet’s tolal score lor the three games than Andy's
tofal score? 7 i

()

tn the three events of a weightliting competitton. Paul had hits of
165. 290. and 259 pounds Stan had #its of 216. 344. and 243
pounds. How much greater was the combined total of Stan's
three hits than the 1atal of Paul's ihree fifts?

)

ou fd < @ 45 mites
"D tn hus first year an the basketball team. Tim scored 136 points. In .
~ his second year he scored B5 more paints than the first year. In '\S,»' 248
s thirg year he scored 33 tewer poinls than the second year —,
How many points did Tim score i the thrd year? { HINT. First L 58 pounas
hnd how many points he scored the second year} —,
R; §136
~ 2 &
\5) In fus first year on the football team, Bili rushed with the ball 76 EY 36 d
umes for a total ot 314 yards In his second year. his rushing B pounds
total was 68 lewer yards than the first year. In his third year, o N
was 127 yards more than the second year. How many yards did i) 9
2 —
Bill rush in the third year 3 .1 3 Ya rd.S :,\L: 373 yards
é@ Amy is trainung !o run a marathon. During her five workouts last (D) 237
week. she ran disiances of 18 miles, 15 miles. 12 rules, 17
miles. and 20 miles. How much greater 1s the combined distance 7
of her five workoults than the ma?amon distance of 26 miles? "@ 89 pounds
p © mi les f@ 56 miles
G‘) Sue has chosen some new ski equipment 10 buy. The skis cost A
$236. the poles cost $35. and the boots cost $180. However, '/L\) $128
one store 1s offering a package deat price of $375 for ali three. N
How much money will Sue save by buying the package deal? A 71
S
$ | 36 !@ 353 yards

8 2 7 7 3 5 5 7 3 3 6 1 7 4
PA RROTTROOPTERS
PARROT TROOPERS

MIDOLE SCHODL MATH WITH PIZZAZZ BOOK A_
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TOPIC 3:n Probiem Sowing Mised ApaKCaNons

Why Is The Library Not Adding
Any More Fairy Tales?

For each exercise. wrrte the russing number i the blank Then select the propery
iitustraled. CIACLE the lener in the appropnate coumn next 1o the sentence.

At the boriom of the page. hind the box contawung the numper you wrote in the bank
Wrie ihe letter you circied in this box.

commuistive associative  identity mro
property  property

5x1= 5

12x | =12

4x9=9x; M’ R
30 x B0 = 50 x 30

8x 0:=0
(2x3)x7=2x(3x T
(9x8)x20=9x(8x:20)
(43 x 21) x 37 = 4 3ix (21 x 37)
35x 45 =45 x 35

Yl x6=6x96
77x1="77

5 x (40 x 30) = (5 x @) x 30
61 x (38 xI59) = (61 x 38) x 59
BT x(3x15)=(87x3)x 15
157900 x 44 = {if Hi x 900

16 (16lx 1 =161

Wim| vl |sjwlino|—

—
=

are

—_
(X

—
=)

-
Y

HIJO:DCDC)(I)"DI‘-—I<(I)@U7(D—|ITI

17 (22x 1)x9=T2Ax(1x9)
75+ (6%x0)=!TH+0

é;—@4>qz@@zmo>@@—r§

é@m%@@@'ﬂr-@@@OnD:oxg
mx@mzmo@m—im—<—4hxz©@
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TOPIC 43 Basic Propemes ot Munpiication A-32
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How Can You Make An Elephant Fly?

I Follow the directions given tor each section, Write the lefter of each exarcise in I

the box conlaining its answer.

I Use mental math to tind the product. Under sach exercise. show the order in which you
multiphed. The first exercise is done as an example
(H)43x5x2

(T)2x13x5 (©)2x79x5

(2x5) %13 =130 (2x5)x79= 7190 (5x2)x43=430
(B)s5x66x20 25 x 4 x 94 (T)4x14x5
(5X20)Xb6= 6,600 (25%4)xq4=9,400 (4 x5) x 4= 280
(¥)21x5x4 W)8x5x11 (U)5x32x6
(544)x21=420 (Bx5)XIl=440 (5xe)x32Z =960
(1)2x888x5 47 x2 x50 (R)50x 12x 4
(2x5)x688-6,880 (2x50)x4T7=4700 (Sax4)x12= 2 40O

420 790 [ 960 990 4.700 280 i6.600i2.400: 130 i2.700: 440 ;9.400 :6.880: 430 |

Y O ‘U S T A R T A0 HE o = B

1. Use mental math to find the product. Under each exercise. show how the distributive
property can be used 10 multiply mentally. The hrst exercise 1s done as an example.

(E)3xaq3 (A)5x34 ®4x92
3x40)+(3x3)=129 (5«30 +(SxY4i=170_(4xq0)+(4x2)= 368
7x23 (E)2x89 6x65 —
(1x20)+(7x3)=16! (2x80)*r(2x9)=I78 (&x60)+(6%5)=39d
(Pysx47 ®5x93 (©7x886
(8 x40)+(ax7)=376 (5x90) *(5x3)=H6S (7 x60)+(] x6) =462
9x 36 @ax78 8 x 59
(9%30)+(9x6)=324 (4xTok(4x8)=312 (8x50)+(8»9)=472

161, 318 1 462 C 970 0 324 1390 ! 178 (422 ; 312 {368 | 472 ! 376 1 129 @ 485 |

A LARGE: Z l!P PleiR!
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1.092 12246 1092 31.752 4554 26046 4.554 5463 26.046
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What Kind of Car Makes the Line
In the Middle of the Road Disappear?
Solve each problem ang find your answer at the bottom of the page. Cross out the

lener above each correct answer. When you firish, the answer lo the title guestion
wilt remain—something you “aulo” know?

1 Lincoin Middle Scnool bought one Pro 35-A
camera and three Instazoom cameras trom Click
Phato Supply. What was the totai cost of s
equipment? g 88T

Click Photo Supply
sfem poce

$479

Pra 35-A camera

Instazoom camera 136 °
2 Tim bought a Pro 35-A camera. a ftash anachmeny. Flasn anachment &5
and a 28 mm fens. Joe bought an Instazopm +
Trpoe 27
£amera ana a tnpod. 52
pod % 200 mm telephato tens 145

A How much did Tim's equipment cost 3
B. How much did Joe's equipment cost’$ 16

28 mm wide angle lens 108 .
— = rdEE . E
C. How much greater was the cost of ‘gﬂi 6‘? g

equipment than Joe's equipment?

Fitm s sold 1o Click Phote Supply with & rolls in a pack. There are 24 packsn a
case. How many rofls of film are in 5 cases? O

Jessica shot 7 rolis of fitm with 24 pictures on each rolf and 2 roils gas pictures
on each roll. How many pictures oid Jessica take altogether? 2";

Jill shat 9 rolls of film with 36 pictures on each roll. Of these. 157 pictures were
taken indoars. How many pictures were taken ouidoors? 70

Mark 1s sports photographer for the school yearbook. During the year, he took 277
pictures al football games, 382 pictures at basketball garmes, and 468 pctures at
other sporis events. Of these. 58 were actually printed n the ysarb?r.,

A. How many sports pictures did Mark take altogether? I s i

8. How many of Mark's pictures were not printed in the yearbook? | , o] 6 ‘I

DO W

7 Bili's photo album has 38 pages with B pictures on each page angd 25 pages with 4
pictures on each page. How many pictures are in Bill's album? | i

8 Mary’s photo atbum has 18 pages with & piclures on each page. 34 pages with ¢
. pictures on each page. and 10 pqgeévz;h 1 picture on each page. How many
pictures are in Mary's album? &

g . Tom has a photo album with B0 pages. There are 48 pages wilh 5 pictures on
- each page. All the other pages have 3 pictures on each page. How many pictures
are in Tom's album? 3

@~ .
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TOPIC a.g Propiem Saiving Mizea Apoications

DAFFYNITION DECODER

1. Pnizewinning dog:

S H o w A R F_

36.028 35178 12336 44716 15720 3564 11,820 59.512
2. Mudpie:

E A R T H cC A K E

47.800 3.564 11,820 9.360 35178 4.808 3.564 44574 47800
3. Pick for mountain chmbers:

L - 1 M B A X

4,808 22920 25476 2.607 44613 3624 3.564 77.517

TO DECODE THESE THREE DAFFYNITIONS

Do each exercise below and find your answer in the code. Each time the answer
appears. write the letter of the exercise above 1t.

NQOTE: in connection with Exercise M, you might discuss with students how
to estimate the distance of a storm, by counting the seconds between the

lightning and thunder.

Did You Hear A

bout ...

i" tHe [actor 'wro [FerL [pewn !g
{'some [Srars|” anD [Finay| @or B
i" A ‘part M IN M a CAasT ]8

Do each exercise and find your answer in the appropnate answar column. Notice the

word under the answer. Write this

word in the bax contamung the letter of the exercise

9,360 59,512
® 's.asg ® ‘aAgg
35,178 25,476
& 'a.arg ® ‘7.422
71,517 Hy,574

(M) 17 x 745) - (3 x 535) 3,607

® A rock band made a concert tour of 13
cities. They traveled an average ot
1.970 nules per week for 6 waeks.
How tar did they travet altogether?

answer; “I B 10 miles

MIDOLE SCHOOL MATH WITH PIZZAZZ' BOOK A
1989 Crvaive Publicanons

© ) 105: ® ] 4.95;
12,336 44 13
o) 6.388 © 9.560
.7 .5

4, Tie 47,800
0} 2.865 O] 8.007
. 8 . 4
22,920 36,028

(&) w78.9)-12x369 3,54

@ Tickets 1o a play cost $8 for adults and
85 for children. If 496 adult tickets and
168 chitdren’s tickets were soid, how
much was spent on tickets altogether?

answer: $iL_S_OB

TOPIC 4:n Multiowying by a
+-Diga Faciar Largar Prooucts

A-41

(® 278 (B sess (©) .07
Answers A-H: x 8 x & - 4 Answers -O:
238,190 21,992 34,008 36,292 T
SOME . DOING :
127.688 © 745 ® o8 (B 6B e
WHEN 7 L * ; 5 FINALLY
34.008 52,39 s 62,262 238' %0 . 582,082
ACTOR ) WENT
85.006 37, .27 ————
62.262 @ B 5 a @ . "92 @ N 54 3 I 77.450
DOWN ——— & i F A
&80 113,688 488,457
697.048 80,048 3, ’ 194,628
ROCK ‘
OCKS @ e (® mew (L) 48657 ! PaRT
52,395 x [ x 7 « 4 ' 25.910
FELL PLAY
£ 563,082 (88,510 194,628 . A
13688 8.696 :
AND Sound travels at a speed of about 1,087 feet par ,_—'E._
21.892 second when the temperature is 32°F. Al this ! 563.082
THE speed. how far does saund lgve!én%s conds? ! GOT
38,192 s fest 79.150
ON A space sateliite made 3 orbils around the earth HIS
n 5 hours. The satellite traveled at an average
25380 speed of 15.490 miles per hour. How far did it 40457
& travel? 7 7 s EM
36,292 2450 e 28810
WHO @ A lruck for delivenng new cars weighs 9.350 CAsT
680.048 paunds when emnpty. i the truck 1s loaded with 7 P 184.928
STAIRS cars that each weigh 2.780 pounds, what 1s the . FRIEND
5195 lotal weight of the loaded truck? 188510
WANTED 28,810 pounds A

TOPIC 4.5 Mulptyin
*-Diget Factor Largar

90y a
Procucts

A-42
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Why Did the Cow Jump Up and Down?

Do each exercise ang bnd your answer 1o the ngnt Wnite the letter of the answer in
Ihe box contaiming the aurmber of the exercrse if the answer has a @) . shade in the
pox mstead ol writing & letier i it

) 38 7 3, 5% G)12e0 /¥ 15200
. a0 -5 = B Eris F 1350
R R
E T T 47680 A} 43780
a9 . 815 5 4389 {L384.010 ‘R 189.200
~ . =~ — . = =
200 o0 - sw Er612.500 P 6.125.000
R E ® “§1177.200 @ 2950100
7 oarst B, eos 9 ssoks @ s.2es000 {N) 9:742.000
- 6000 - 3.000 - 5000 ’@ 4.446.000 @ 424,680,000
p=4 =
T 9 D 710542000 [B) 1.814.600
0: 7560 1) 4183 12 90075 K)3.247.000 ¥ 360.300.000
o it 12
9o - - 80O 1 2000 @eeo4c0  (E;3.346.400
® E | 7A) 3504000 7Uj 672,400
1§ osess @ 3 5 5107 7/E)$507600  /5)$457.56000
600 - 7.000 3 Risa7izic (A} $5.126.00
;—\J g
E ) R Njs632100 (@) 5447.580.00
= - P N— — ;
6 é.ggu KUERE Y gzemson B 58.240.000
- Boco _ T3 17.240 7A; 2857500
B 18159154500 A {C)57.640000 {H)}16.740
19 976.200 Wea-a00 T “H) 246.000 (1) 68.334.000
~. =
PRI M) 8478000  (F) 8.497.000
= 2 L
[ Biresz - g0 M {T; 25800 (R} 66.374 000
25 Dunng the last 30 days. Bl ran 23} Judy swam 16 ‘engihs of the pooi A} 34.000 m
~~" 185 laps around the school rack ™~ doing backslroke Then sne ;’\
it the track 15 400 meters lang. swam 32 lengihs using freestyle (U 2.400 m

# the pool 1s 50 meters long. how  —~
far gid Judy swim antogether? E)T4.000m

E
E— N
2 3 @M 8 o 1 GRT 1 oo @2 22 13 9f@623 ¢ 20 5 15
I TEMADEHERGFEEL BUTTER
e S ey TSGR 43 -gpi s watowng ar Mutpies o3 0L ama - 200

now far did Bu) run altagether?

"
3 la
g = g 58 o tn
g 48 S~ Q
© N = [}
ez 3 T N
2 2 0F N a8 2 +
b . <
- 3 = i
@ = @
Az ~e M Tg -2 38§
3 23 2
o - 23 w A £
o L2 @ 2 o =
M3 -~ _~ g2 02—~ =~ %
— i@ -~ 33 [} 5 ™ 82
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What Happens to Oid Trucks?

Do each exercise below Draw a straight ine connecting the square by the exercise
ta the square by s answer, The hine will cross a number and a letter. Write the
letier 1 ihe matching numbered box at the bortom of the page

1 72+ 168) - 4,085 *. ) 4819
2 /49«83 - &75 ». Py s 4,852
3 96 « 501 - 1.840 5.237
4 67 671~ 3.924 17.400
5 5.280 - 148 « 89) 333

6 10.000 -57 - 94} 4742
7 (76 - 28} +1338 - §9) 565

8 58 «B7)~115-10) 10.000
9 17-7.921-40 4.642
10 6.000-15 = B - 46} 4.160
1 (2.39+51+751 243
12 (7-92 -8 -300 2.960
13 894473 3.736
14 5058 <6 1141
15 {60 ~ 601 - (BO - 80) 4.480
16 4+«4.4270 13.254
17 3.3-3:3-3 1.008
18 (1~ 333)-(0~333) 4,468

1 2 K] 4 3 3 7 a 9 10 1t 12 13 14 15 16 17 18

TREYJUSTG@ETRET!I RED
THEY JUST GET RETIRED

MIGDLE SCHOOL MATH WITH PIZZAZZT BOOK A
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TOPIC 4 Mumpiying Dy 3 2-0ign Facior

BOOKS NEVER WRITTEN

The Great Dhamond Robbery by

8350 50991 36848 2223 3666 13950 6.228 14.550 23.189 37.926 23.352

Tricky Rifle Shooting by

R + ¢ K O.

ABOVE ARE THE TITLES OF TWO “BOOKS NEVER WRITTEN.” TO DECODE THE
NAMES OF THEIR AUTHORS

Do each exercise and find your answer in the code. Each ime the answer appears.
write the letter of the exercise above 1.

® 57 ® 84 0] 98 »® 346

= 39 « 64 -_73 x 18
2,223 5,376 7,154 6,228
D ) v
® 2 90 .3 ©.% 9.9
23,352 50,991 28,36% 23,199

N 806 © 658

- 39 ]

36,848

) 7xe3-86 37,926
{K) 28 <(500-131) ;01331
(@) 1185 < 10) + (64 x 100) 8,350

® Bizarre Middie Schoot bought 15
computers and 6 printers. it each
computer cost $790 and each printer
cost $450, what was the total cost of
the new equipment?

@ A television show was produced for 3
years. Each year, 26 episodes were
filmed. Each episode ran 47 minutes.
How tong would it take to walch all the
episodes of that TV show?

él_b_.b_b_... mun s_t 4 S So
MIODLE SCHOOL MATH WITH PIZZAZZ! BOOK A
TOPIC 44 Muttpiying by a 2-Orgit Facior A-46 21389 Craatve Pubhcatons




NOTE: Exercise 9 gives the number of seconds in a day.
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How Do Clocks Communicate?

Do each exercise telow Fing your answer in the answer Column ang ronce Ine enar
next1ost Look 'or ths letter in the stng of lefters near the boftom of the vage ang
CROSS 1T OUT 2ach nme « appears Wnen you hmisn write tne remaining ietters
fne rectangie ai the botiom ot ihe page

B 7ia z 629 3 845 i oA 25228
- -1 < S 1=
- 35 L 3% i T soszeom
232,050 459,799 402,220 | % oo
o 32500
n 508 5 520 5 387 M- 458790
2 308 858 - 07 S 22141
84,184 606,280 323,799 3321 7en
F 232050
B 6092 B 83T T 1.869 P-as3gse |
- 444 ~ . . - . .
s oo _-_9s2 T 213600
2,704,848 5,092,608 1,779, 288 .
=
£ 62000
3 V. 2704848
73,000 =
— ’ \
10 7004 - 704 4,930,816 37} 1308 - 200 - 136 + 300 T 281144
et P
—~. o B 402.2200
12:52-51-50 139 Koo 13} 1900 - 5001 -¢9.000 < 60y O =
= ’ p L W) 73.00
14’ The image on a computer '/5\ The letier “K" often stands for i
=~ monitor1s composed al many = wia. meaning 1.000 In com- LU: 1.779.288
small gots of kght. A screen puter terms. however. K :\
with a diagonat measure of stands for 1024, 1t a com- \I/ 413,799
12 inches might nave 200 puter nas 256K of memary, it =
rows af dots with 320 dots in has room tor 256 « 1.024 \H, a
&ach row How many dots s bytes ot intormation. How P
this attogether? many byles is this? \ﬁ) 606.280
©ot,000 262,144 T arares

AAELTHAL S B AT SFNEEBE L AWK AA
ﬁswen Toruzzie. TICK TALK
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How Did Captain Hook Get Injured?

Oo each exercise and find your answer in ihe set of answers 1o s nght Wnite the
lener of the exercise in the box contarming the number of the answer

1. Write using an exponent. 3 @ g3 @ 105
H3-3.3.3 37 D717 T° g @oe 7
@4.4.4.4.4&}5@10-10”0-10-10 @3‘ @)47
0)9x9 g* ._’;-(\':\4‘4-.4‘4‘4.4,4 @46 :@45

H7 DL OEY

@ 104 (@ 108

(v) 10.000000 jO7 ®w o

1. Write the produc!. ,E @ 8 @ 729
Eae le ®r 49 t(@1s (12 a0ms
@a 8 (s 125 i@ (5) 10000
{(Drwjo,000 (1) 32 iGee  (B)ra72s
O AT (E) 122 14 P @12s (1) 15625
%I—j 615,625 (%) 8 4,096 L) 1ea @ 1.000.000
Ny 729 @ o, 006,000 | (3) 215 {B) 10.000.000
1. Write as a power ot 10. : 21) 101 {19) 105

{(E) 1.000 103 e 10 Pn0z () 107

(W) 100.000 10% 5 1000000000 107 (@ 10* (33108

IV. Solve the equation. 9 coo ; @ 5 (/1:8) 40.000
? H 1

(G)4=102=n +O0O (W)ys.105- t@7 (39 70000

7x104=n70, P) 4 x 106 = ,ooo,:nc: e (@ 300.000

nx103=5000 § (R) nx107=80.000000 : (32) 400 (§) 4.000.000

i (9) 7.000 9.000.000

[HE T TPEB [ B B REEE I
R TF E FEBR B A& RE]

MIODLE SCHOOL MATH WITH FIZZAZZ) BOOK 4
+ 1389 Croatve Pubicatons A-49

TOPIC 4 Expanants

When Do Stores Sell Most of Their Tanning 0il?

Decide whether you would choose mental math, estimation. or a tool {paper and
pencit or calculator) to solve each problem. CIRCLE the letter i the appropnate
column nexi ta the problem.

Then solve the problem. Find the answer at the boftom of the page and wrile the
letter you circled under it.

T
Choose:: M mental math. E estimaton, of - T ool M E T
Prime Jr. High has 41 classrgoms. Each classroom has 38 desks. Abaut B R ;
how many desks are m the school aftogetner? | © 0O : . 4
Prme Jr. High buys pencils to sell al the school store. There are 144 ] E F @
B

| W | =

pencils in a box, and there are 24 boxas in a caron. How many pencils
raein3canons? 10, 3K 20,000 |
: The schoal bought 40 new slectronic typewnters ic:r its typc?»g classe¥ If \ C ! L :
each lypewriter cost $500. what was the total cost of the typewnters? h E :
" The PTA at Pnme Jr. High sponsored a book sale. A book company ' P :
‘ brought 2,837 paperback books and 694 hardcaver baoks to sall. If { L ! E @
1.472 baoks were sold. how many books ware not sold? 2 N Osq : : { \
Ttus year 688 peopte came o the Prime Halloween Carnival. They ; : : ;
bought an average of 21 game tickets per person. About how many P H @ F!
tickets were sold aftogether. 1 4 00O : :
6 Pnme Jr, High had a campaign 10 raise $10.000 for new computers. A ! : :
locat bank cantributed $3.000. The PTA raised $2,000 from parents and H '
- students. How much more money must be raised 1o reach the goal ot ) \ A S
,$10.0007 5,000 | ;
7 : Each day. Michalle attends 7 difterent classes. Each class 1s 50 minutes ¢ i
1Jong. She also has a 10-minute homargom class. How many minutas L H P :
‘ does Michalle spend in class each day? _3 é [e) i i '
8 The studenls at Prima Jr. High use an average of 6 diffarant textbooks. {
: H there are 814 studants at the school, aboul how many lextbooks are E -( A (@]
| being used altogether? 5, 400 !
; H
1 Last year. Scolt went to school 6 hours a day for 180 days. He also :
9 , watched an average of 23 hours of TV each week for 52 weeks. How M ! P ( S :
any more hours did Scott spand watching TV than going 1o sc H

¢

114,000 § 5.400 | 10,368 | 2050
f : i
DIAIY!S
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CHAIN CODE

These are called CHAIN EXERCISES. Do the steps in order trom left to nght tor each
exercise Fing your answer in the coge at the boftam ol the page. Each hme the
answer appears. print the ietter from the end of thal exercise above i, {HINT. Look for
sleps you can do mentally i

[ Taxe JBTJ)[ aod 29J>[ muMply by 8 !)rsumracl 1725 J | 0(33

[ Take 59 };:' multiply by 94 J’! muttiply by 10 J){ sublract 5.581 ggl 279
{ Take 7000 M| subtract 4.267 J)F a0d 1534])i multply by 6 J l=71;3 76
l Take 90 J!)! muitply m&])ﬁd Bﬂ)i subtract 7.500 | 35 -

| Take 793J>| aga 793 |p»| mutply oy 40J>[ subtract 62 600 J' =A

[ Tane xooJ)[ multply by 3254])[ suonact 28014 |3 mutvely o7 | =) I s02

[ Tare 5 ){ mu!llD\YDYﬂ])l subtract 2.760 J)[ sublract 673 J =5\‘(’_7

[ Takeaoos |w| subwac 3197 D] munmly by 58 ])[ aduBB7J '+=é/ co0
| 5
)

[ ke 200 J)Fjblran 162 Jpe| muttply by aﬂ)[ 2004076 | =_,M e

- {
[ Take 94 l) muliply by 77 |>F1umply by 10 l)lr add 6.950 l :7%)330
[ Take 5004])|Tuluuly by 50 ])Fumram 24.8!1})[ multply by 47 J 3 ,CH»OO

{ Take ssJ)l muttgly by 73 || muttipty by 1 J)[ subtract 5.290 I

=8
388
=N
399

[ Take 9994!)[ multiply by 0 |)‘ multiply by 999J>l add 998 i

ttle” CASH STASH

6 B40 9330 500 988 28.402 B4D0 500 999 17 3VE 988

MIDDLE SCHODL MATH WiTe PIZZAZZ BOOS &
1385 Zrearee CLoLCalOns A-51 -0PiC 1~ Bevew Asoror Suotactar Mumancate

CRYPTIC QUIZ

1 What happened when Tarzan called the King of the Jungle?

THE . b ionN . WAS .BUSY

—_— — — - = o=

7 3 17T O6 6 1

Hils.g& il .FR1END

7 76 14 0 15 16 17 17 a 15 16 3 13 8

Do each exercise betow. Fing your answer in the appropnale answer column ang i
notce the letter next lo ¢ Each tme the exercise number aDDEBrs mn the code.
write this lefter above it |

1 7388 (2} 947 |3 7
’ . 5987 £ 25'.;! 3 A 8.1 S Answers 1~8 f_\:swers 97
P -4 —_ = S / ¥
13,355 @78 65,408 (Brezgs B rsn
— . . ) 164400 (3 232958
) 6 {5) 508 6} 879 = =
~ B 7N k7 ~ . o {E) 85.408 {1 9630
Yy + 8.484 ~ I
5'106 0 > B.god 83;505— L 1.650 QJSQ.MS
3,947 [R) 13385 L) w37
e -
& 2744-’600 () 160 «50) - 140 » 30) (AERAL (@ 65746
Iy 7 Ty
loH, 40O i,80 (A 13.947 (T} 8230
(3) s (B 72600 1) seass  (X) 193400 {0) as67
= 3934 - 6854 8 (M (® 7.840
4,567 65,746 350,958 () 1800 (N) 3e0.582
@ 73 @ eom (1@ 836 © sasoo . (F) 1851
050 L 2 206 (B)sasos  (T) as0.958
’ 320,582 339,416
. 618 (F) 5.106 K) 317.482
27,511 M) 538 (V) 344518

’) Gyro bought a car priced at $7.588. He agreed to
make payments of $260 per month for 36 months.

W15) 10.000-(8 x5« Sdé
T, 8%
How much more than the actual price wilt Gyro pay?

(i6) (100 %27} + (10 x 693) i
q’aao 5_&_
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TOPIC 4.n Fleview Addnan Sutitracton Muticanon  A=52 1989 Creatve Pubicalions

What Trick Can Any Horse Do?

Do each exercise and find your answer in the rectangle below. Cross out the box that
comtans your answer When you hirish. write the lefters trom the remaming poxes In
the spaces al the boftom ot the page

1 The United States has about 1,800 daly newspapers., B 400 weelﬂ; newspapers. and 550
sermiweekly newspapers. How many (s that altogether?

2 The Sunday Times had 14 sections with an av‘e‘-age ot 16 pages per seclion. How many
pages were 0 (ne entire newspaper”?

3 The char at the night shows the crrculanion of the Darly Praner Daily Planet

n a fecen ween Grculatian -
hy ni —_—  ——

Hu:rsrnany ccvmes wﬂe sold an the weekend {Saturday Manoay BEar

and Sunday} Tuesaay T a30

B. How many more copes were sold on Sunday fhan on Weanesday B.229

the oay with the secand highest circuiaen? Thursday 9968

C Round each figure 1o the nearest 1.000 Then auu lo g;‘:‘%a ggfg

urday
esbmale the tolal circutation for the week 6 Sunday 12507

An offset press can prnt about 270 sheets of paper per minule Each sheet s cut to make
8 newspaper pages. How many newspaper pages can be pnnted in one nq;iq 6£00
A subscription to the Darly Planer costs $19 per month lor delivery every day. or 315 per

month for debvery every day except Sunday Ylow much does  cost 1o receve the
newspaper every day ltor a year”?

6 Express Press deiivers 374 newspapers each day Monday througn Saturday. On Sunday.
# delwers 590 ngvirrs How rmany newspapers aoes Express Press delvern a
week?

For a halt-page adverisement. @ newspaper cnarges 3865 for each day Monday through
Saturday apd $1.270 lor Sunday How much does 1t cost to run a hait-page ad tor one
week? 7,

8 For classiled advertising. 3 newspaper charges $11 per Iine for each day Monday through
Saturday a:‘xs pahne for Sunday. How much does it cast 1o run a 6-ine ad for one

week? 8 15,000 >

Daily newspaper crreutation in the United States averages about 300 copres for every 1 000
persons At this rate. how many newspapers would be soid i a town of 50.000 people?

X‘XK 94.600 K 17.000 X 3,239 Eﬁ.
0.750 ™ 11.720  $6.460 X\K $318 244

TURNCARTWHEE LS
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Maze Phrase

Do each exercise and hnd your answers in the maze. SHADE IN each room thal
£ONMAINS 3 COMEct answer

Then find a path to the Treasure that goes only through rooms you have NOT shaded
in The words in thase raoms will form an a-mazing message?

D aa-5 738 RZ (5 0869-32,956 R 1 /3) 255¢-7 407 RS
(@) 16208 - 53,259 R3(5) 22500 - 82,81 T RY 5) 27.952- 6,990 R Z
D) 45747-95,083 (B 22765- %, 10T R2.T) 76902 - 788, 496

; - P -
a0 8550-64 760 n 25217 - G, 405 Rz 32) 87137 - 40,892 R |
13) A scnoal district recewveo a grant of &) The Schmaltz Band bought an ampidier
$6.840. The money was divided equally for $1.260 and 1wo speakers at $375

among the 7 elementary schools and 2 2acn. If the 5 members of the band
fugh schools in the district. How much awide the total cost equally. how much

7
will each pay Yol

*

5690 10,674
DIVISION € IMPROVE

2.824
DOLLARS

4.784
BECAUSE

- 736 R4

BUYING TODAY
10885  8.409 R3
WEARING GLASSES

e e o

SHOULD

3. 257 A4

4.765 R2
KING

MIDDLE SCHOOL MATH WiTH PIZZAZZ' BOOK A TOPC 5.9 Dwaung by a

YOou $110uLD BE WEARING GLASSES TopAY BECAUSE

THEY (MPROVE DIVISioN.

What Do Goblins Ride At A Carnival?

Do each exercise ana hnd your answer in the rectangle beiow Cross out the box that
conians your answer When you timush. write 1he lefters trom the remaining boxes in
the spaces at the bottom of the page

1 ! Deke. Zeke. and Gewe each bowied name  Game + Game 2 Gome 3
three games
A What was Deke's average score® | 38 Deke 126 153 135
B What was Zeke s average score? q Zeke 108 a2 97
€ Wnal was Geke s average score? Geke 127 138 155

/2\ In 8 faotbail plays. Grunge Helmet had gains of § yaras. 12 yargs. T yards, Q yaros. 3
" yards. 4 yards, 15 yards. and 2 yargs What was his average gQan per play? 6 va d s

3% The scores of 4 students on 5 different tests are given in the taple. Fing the following:
" A The average of Sam's scores. 8 S Test Test Test TYest Test
8. The average of Ter's scores Té Name 3 2 ) a 5

C The average of Kim's scores go

D The average ol the scores Sam- 84 93 91 .75 82

on Test 1 Ten 87 B85 74 B0 T4
E The average of the scares Andy 84 78 87 71 100
on Test 4 go Kim 79 86 100 54 91

Zorna ran 6 laps arouna a 440-yard track. Her lap umes were B9 seconds. 93 seconds.,
97 seconcs. 102 seconas. 95 seconds. and 88 seconds. Find the tollowing-
A The average time for the frst 3iaps. @3 §
B. The average time lor the last 3 Iaps.
o 255

C The average time for all 6 laps.
5) A salesman for Tickle Toys travels in 4 diferent states. in 8 waeks, he traveted a total of
18.846 rmiles. Find the average number of rmiles he traveled per week.
o perweek 2,094

(=

) @

Etmo Buckels played m 7 baskslball games. Altogether he scored 88 held goals {2 points
each) and 13 iree throws (1 point each). Find the average number ot points Elmao scored

per game. 2
O Racquet World sells an average of 45 tennis racquets per month. Al this rate, how many
racquets are soid in one year? 5‘ Lf o

AR NYGS
13 -2057l 76
%
8yd '45\'915c-c

AROLLERGHOS'TER
A ROLLER GHOSTER
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L)

(

TOPIC §-n Finoing Averages A-64

®

@
2,970 Rr1

®

8123761

NJi e

6.402
1749
T29R 2

®

15

1

@ The top ol the mountain has an elevation of 11.640 leet. How
much higher 1s this than the base of the ski area, which has

3,255 %+

The sk resort has 9 chavlifts. Each chailit has a capacity of
870 people per hour. The fifts oparata 7 hours per day.
A. What s the total lit capacity per hour? 1 430

Q 5655 (T) 28
@ se%0 (R) 2
() 3807

@ 48 mph
:(B) 33451

an elevation of 8,385 teal?

+ 1985 Creatve Puticatans A-63 +.Digt Dwssor Larger Qualients
“
b -
& ~ R w_ 9 Why Do Dragons Sleep During The Day?
S - T T v £
o & oz g 2 ) 2 g £ M A Solve gach probiem beiow and find your soiution i the answer cofumn, Write the
Qo t8 5§88 .68 38 2305 o H'w 2 iener of the answer in each box contaning the number of the problem.
= § > 2T M " B ©® NN N @ o9 M~ NGO B — - @0
© 383 2z wzro ,x22 > _«rf'Z )
- -5 < 4« 2w 2Z22 ¢ 032 F Wwo [ z Durning winter vacanion the 5 members of the Scolt family wert ™ Yng Scott Famlly | Famlly
o £ » - 2 on vacation ta a ski resornt. They drove 336 miles i 7 hours. m
@ a i
= ] oo 8 ~o M = 5 D : w (=] What was thewr average speed |+8 ™ Ph
X 40 22 & 2% 3 g °g 3 > o s Mr.Scon 40
=3 (=4 H
8 g2 g <o NS ‘Sg 'E S50 ‘© @ ™ O The Scotis rented a condomimum at the resort tor & nights. i Mrs. Scon 39
- g‘g + ¥ g 2z € g : T The price was $120 per night {or 2 people. plus $15 par might | Dan Scon 14
%) g = n 1=} 2 S cebn r4 e tar each additionat person. - ! Susan Scott 13
~, =] £Ed &>uv b3 i l6'> ) |
S G2 =} =] 2+ R 3 - s A. How much did the Sconts pay per might? Mike Scon 10!
1= Z% E § g e ‘_g E ° "2 B. How much did the Scolts pay tor 6 nights? $ q q o o
=N Ew —
& =3 S2c 3 o -
o & FE=2 o 2 /:h Lift uckets at the resort cost 528 per day for adults and $19 Answar
© g3g i 2. The Scotts skied for 5 d e
© @ Ious .o 2wgd < per day or children under 12. The Scotts skied lor 5 days.
~ - o o -
5 o Jaadle @ 22550 —oid A. How much did the Scatts pay for lift tickets each day % { D! @ 3158 ® 24
= (=] [ ~ Ei2a2 W "
* v © 7. gY@y "] B How much aid the Scotts pay for lift tickets altogethgr @ $165 @ 5
- - Aac o 5 A s
°,: x 8gsge £ @ {® s835 ©) s1a
3
T
o
W
- X
H o

4,653
(9 153« 100)- (72 101y §80 (1) 4334 5,184

notice the two letters next to 1. Write these lellers «

Do each exercise below Find your answer in the a
exercise number at the bottom ol the page

(2
(&) o660

Ble[M+

=
®
o
o
=
£
=)
£
S
g
2
0
®
=
=

weight of the shipment? 750 kg

and 20 RotBats. Each HotBot
weighs 15 kg. and each RotBi
weighs 9 kg. What was the total

@ Rex Robot Co. shipped 38 HolBots

17
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B. What s the total lift capac r day?
L apacity per day 54,3’0

'@ 7830 :
| () ss.s10
® $12.35
® 2814

© 51345
() 22551
© a1

© sa810
@ 45 mph

BA 6 2Ai4 5B{3B17 2AIBAI3A 6 | 1 !aa:;aA 7 [8B{3B|5A[ 6 [8A|2B
THEN LI KETIOHRHUINT KNI GHITS
THEY LIKE To HUNT KNIGHRTS
-66

One evening the Scotts went to the Chalet Restaurant for
dinner. The bill was $67.65. Mr. Scott paid with four $20 bills.
How much change should he have raceived? $ 2. 3;‘

A total of 19.035 people skied at the resort during the 5 days
that the Scotts skied. What was the average number of skiers

perday? 3, 8o

During therr vacation the Scotts took 173 pictures. They put
tham 1n an atbum with 6 pictures on sach page.
A. How many pages were completely tilled? 28
B. How many pictures were lelt tor an unfilled page? s
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Did You Hear About ...

A F
THE wiD W HO FiNALLY HAD To
{
G H i J K L
4 aeTr His HAIR cUT | Becauvse 1S
™ N 1o B Q G
H Ao THER] COULDN T] STAND T ANY LOMNGELD

Do each exercise and find your answer i the appropnate answer column. Notice the
worg under 1he answer. Wnte this word i the box containing the letter of the exercise

Answers A-: Answers J-R:
L HR TR GRIB —
6 R29 2 a7 B osemeE Y 5033 769 R45
FROM STAND
8 409 R22
70 R TO
5418 ©) 5R5., 92833y 8 93 A3
HIS 90506 407353 \J 607480 TIME
T ami7 65
AT ANY
- —~ 13R 6~ G4 R ITRZLS 94 A1
THE G oves W oaoTemw L) 707 MOTHER
6R13 ' 24
WHO SHAMPOO
17 R21 B Re0-, 92 &23‘{» 92
~ p
HAIR D o K sozew O sowmsé | BECAUSE
24 R11 27
GO LONGER
9 R33 62
T
__hab (M) 1801+ 20 RU} (N)15.207-60 253 R2T. ThA
7 R28 253 R27
KID 53.875 70 16.327 - 40 COULDNT
23 R6 © 769 R‘*S® 4yag R7 408 R7
SET @ A recycling center received 3.250 pounds of T
16-F|32 newspaper. It was tied in 50-pound bundies. How 38 AB0
WORK many bundles were there? ¢, 5" cuT
5 R56 I " 7e8 R
7R} Traveling at 40 miles per hour, a car uses 30
FINALLY gallons of gas o travel 810 miles. What is the WASH
55 A3 average number of miles per gallon® 277 60 R34

SOME ' HIS |
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What Did the Mama Ghost Say to the Kid Ghost?

Do each exercise and ind your answer 1o the nght Write 1ne lettes o1 the answer in
Ine box comaining the number of the exercise It the answer nas a @ snace n he
box instead of witing a tetter i it

Each stnp is 42 inches long. it she has 400 inches of crepe
paper left on a roil, how many sinps of this Jength can
she cut? Q@

0 @i 2: __2R7 3 "3R23A S5Rar £ 28"
327108 ~ 79165 - aTE4 ) = =L
vy aR2e G TR
P N6R1 @ R
0) 5R%0 T 2 E 7R3 T 3Rz A
. 2 g o TT 3R A IR
~ 93505 ~ 537268 ~ 81570 = ¢ R 3hm
tE-TA3I Vv SR
HERAE 3 TR L TT
D) 4”13 g "3 RE 39, 6 RI® N, 6R28 L §AsS
~' 567237 247224 =’ 37 250 Z&x = -
i E-5R68 0. 4R13
. {7 9R8 R TR
10; 5ReT +RZ 2 HE =
~  73E ' T L ggusy YR L 3R
- VA1 A4R26 H:-65R28
N ELECAELIE
W _7R39 G 3 o 15 2RI§ (TRIB F. 3RS
~' 447347 ~' 95935 /e T .,
HOEL Q 2R15
PUNY9REO T, 6R42
ey = = = =
6 _JR2Ze 7 B RYE (8 3R R2a
86528 ~ so@a " 62181 5:{ JRet L8R8
VJEY 7RI D SR36
PR = .
{75 2ms Y TR
(19) 45676 & @) 172-28 5 R27 | Bie S 5R27
HI= =
@ Enc took 144 pictures while on a 5-day camping tnip. He usedE ‘M 5 B
tim with 36 pictures on each roll. How many rolis of fiimaid  } T § TP 5R14
he use? i - =
O D 6Rg
@ Hilary 1s cutting stnips of crepe paper to decorate for a party :
\
:

18 4 .20 1 10.12 jl16 7 12 3 G2 5 13 2 O 5 1T 8
FASTENEIYO URISHEETERBELT
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Favorite Class at Caterpillar School

The name of the FAVORITE CLASS AT CATERPILLAR SCHOOL 1s vdden i the M OTH
rectangte above. To find it. do each exercise and locale your answers in the
rectangle. Shade 1n each area contaning a correct answer
425 .~ _TRI9 -~ _5RB 9 RU3
ORI 2 3173 3 667338 OS

A 3R2T - _BR38 o _G@R9  4 4RrR2Y
5) 47308 8) 5672886 [P eyrel &) 35 8

T = 5R6 ; 8 R3S 3RIb
@ w5 N ) g3 (2 v

{3 4s3-5¢ 2 RT

lﬁ) Steve has 276 shdes 10 store 1n carousels. Each caroysel holds 75 shdes
RS ;
*A How many carpusels will be completely hiled?
. -B. How many slides will be lefi lor an untilled carousel? s1
“C. How many carausels will be needed altogether? ‘+

@) 250- 97 2R5e  3) w0-26 GRY

(17/ There will be 142 people at the Goldenglob wedding reception. There 15 room for 16
people at 2ach table 8
A. How many 1ables will be full? X
8. How many people will be left tor an addihonal lable? ‘4
C. How many lables will be needed altogether?

(/1-8\ Mr. Jolly 1s buitding a tence around his yard. a distance of 272 feet. Each rall of tencing s
50 teet iong angd costs $68 .
" A, How many roits of tencing should Mr. Jolly buy? ©
'B. How many rolis will be completely used?
C. How many teet of fencing will be used from the fast roli? 22
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Crack the Code What Is A Cow On Sale?

A CRYPTIC MESSAGE 15 wniten in code at the bottom of the page. To decode: Do each exercise below. Find your answer in the answer column and nonce the tetter
Do sach exerciss below. Find your answer in the answer column and notice the next 1o 1t. Look for this letter i The string of lefters near the bonom of the page and
Symbol next to it. Each tme this symbol appaars in the code. write the tetter of the CROSS IT OUT each time 1t appears. When you finish. write the remaiming leners in
exercise above if. @ the rectangle at the bottom ol the page.
38 R12
L R24 BRIT _TRYR .
© 32 (ORI ® semm s —~ 2728 ~ SKIRZS'&r BBrsg () oAz
Q) 67T &) 3T 3 esTia @) se2 Rz
] sz nss D
BRI 713RT5 2R3 56 RA9
23'g86 @ 45.3.290 @ 69.:3.903 S Q 150
8 R8 { 417 R34
L)
—s8 > 285RI5 ~  417R34} (B) s3mse
= & eEIE 267.425 &) sr23803 = sa s
75 R26 - . }
p— N -
85 60R 29 @ 36 RIB|| — gRaa (V) 27m8
@ 7216.120 @ 3412.069 91 3,294 @ . @ 16
[ 60 R29 . R -
. : @ g 29 4 ) 17aRé3
7 Rag 38RY0 59z R 06 RIZ =
MELY T w5 ONS - ® wwm (B) s38 R40
© 217
H R 4I1R3I2 32 R58 92 A36
® r——5° 43 ® 5372553 @ 655,038 L ©) s¢Ras
88/4.795 E 54 43 @ .
M 7aes {¥) 285 R15
] 84 st o) nret-67 [T R63 () 626-322 82O R 1k (@ searia
: {12) Cash Bucks invested $13.350 in shares of TNT Corporation stock. T) 706 ;12
© are-a9 7o R4 @ 7023+87 B8O Rb3 —” a7Rs D Each share cost $89. How many shares did he buy? | SO 8 420 16
Mode Middie School spent $4.060 on new tables and $944 on new U_ 76 R14 .
13) The Eiffel Tower in Pans 15 985 leet tall and has 1.792 steps. If you
ehairs. Each lable cost $70. How many tables did the school buy? I a5 O chmb at the rate of 56 steps per minute. how many minuies will 1t @ 174 R37
m take to reach the 1op? 32 ® 349
80 R63 .
E S i M coFlYg-,C MESASAEE WA Y S : (@ A ponter has B0O inches of paper eft on a roll. The paper will be cut @ 417 R4g
Z :J & m m l I l — I I l l E] H I_U N 8R19 n1o sheets 48 inches long. How many full sheets can the pnnler, %‘;‘7 @ 152 -
RE 7RIS S e DAY [ ABECEN NN AR P AABRREM I g CRTE e
N[”E@EH’E}]]:H_L@':{D:IH@ gasme l ANSWER TOPUZZLE: CALF PRICE
2ZAZZ! MIDDLE SCHOOL MATK WITH PIZZAZ2) 8OOK A i)
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What Do You Call

~ ™ 2 ~
T e o « 3 3 =
., ] o u o @ o o &N O 3 »
;4 2 € =
g s S8 rf _B8EZ8828 =g = A Frog That’s Stuck in the Mud?
eq o F N s R g w e ® O g R og R g @
— - 22 S8 8B a5 K58 s blem and find t the bottom of th c the lext
i i “in pa S, e, NN T olve each problem and lind your answer at the om of the page. Cross out ths letter
7 )I AT @ @ @ T () {wjiz) (o; @ Q)2 ix above each corract answer. When you linish. the answer ta the title question wil remain.
%. =T oy 3 * o
_— @ o2 =R gy N © : The Flyck Theater has 38 rows of seats on the main floor. Thare are 26 sealsin
e nae, avo g 2~ y
. = 5@ oo + 32 L ; N . each row. How many seats are on the main floor altogether? qae
(S — z E 3 gew oS gy 2 2
%; syl @ g E ] M . 8 = o B ,9 k] EZ 53 2 There are 234 seals in the balcony of the Flyck Theater. There are 13 rows with the
- - 565 &) ~ - ® “®™ 3 g 2 20 . same number of seats in each row. How many ssats are in each row? 8
8o - (o} = 4 2Na 28
S R s o [T B ] =z T2 -
g "9 e é ~ 2 8 p 3,3 2 ZE 3 The chan shows the number of fitms of {Typs Number
© = =5 - e NN 223 g ' cerlain types shown at the Flyck Theater { Comeay pre
'J: - L3 ~o c @@ 2g% IE in the last 10 years. How many more | Drama 244
8 ~v o~ ze S9ITQ LN 5 °8 £3 comedies than action fitms were shown? 223 { Action 138
= V) S5 a0 - S “o. 2%
© =1 @ @ :
2 ] 2 =R =~ 8 2 % £ %E 2o 4 Last week the thealer had a double teature. The first fiim lasted 119 minutes. The
1 35 T - 0 S>> Z " second film lasted 107 minutes. Thare was a 15-minute intermission batween films.
ge 0 Sag EE A
o 52 O O il o o of g gE i How long was the entire program? 24 | r |~
x = ) ~ el © ce - :
B g [ o o2 B .
E 5 g K:) ‘.@ «0 ) & §§ c o 5 “ A total of 2,694 adults and 980 children bought tickets at the Fiyck Theater last
s 52 I o B o Eé : week. Each at':lsx!l ticket cost $6. How much was paid for the adult ticksls
- ) =5 & i al ther? Vo, | &
% S« Qi 3258 3 | altogef ,
[=] d =0 =g
& 2: B°R°B S 8 2 3sT 38 ‘ ,
5= :. i _2 i T8 s £% 6 : The manager of the Flyck Theater earned $29.640 fast year. How much did he sarn
= X - - [ < 0 o ? =
pu Ei A © :D’ [CIREY g-2§ Eg : perweek? {1 year = 52 weeks) $ S70
= @
B [ © 2e= 3 & Filrn travels through a projector at a rate of 170 leet per minute. How many feat of
w3 - E 590
(o} 23 @ @ 'Y) 228 i tilm are in @ motion picture that lasts 120 minutes? 20,400
-5} O53 o el Tgm T
Fc Oz g 9 N é 2 ‘; g2 = 8 One night, the Flyck gave a prize to avery 25th person who bought a tickat. A tatal
g €8 o o 8 - Sold Lg s { of 610 people bought tickats.
= Fal® oo Qwe T¥s Fae 3N A. How many prizes were given? 24 -
Q g 8o ;. f’. Q o 2 5;‘ @ g 5 8e B. How many peopls bought tickets after the fast person who won a prize? } O
ges WS - “2g 3%
5 - 2 =43 ! 8 B =25 = E 3 g ¢ In a recent year there were 18,772 movie theaters in the United States. Of thase,
z o = =E= o
R E ~ 15,837 were mndoor thaaters and the rest wera drive-ins, How many drive-in
—-— ‘;m)_ 9 E 2 @ @ @ @ @ @ + theaters wera there? 2 , 93
o -
o e 2 6 S n 8 w MU DKCDEC N H DK 0 DRUDR P P Y
& £ [, 22 8 8 o588 8N LG~ : T = !
a s f @ a8 gz CE, B! o! o g £
2 = 2w w8 w3 Fab™¥ 3T oa Bl o = wiy Qe .-—_{E !
= 3 'k Pl o K| o 1 ol o Q) O - f
- c = RN R SR I N R A= S B~ - - R ol PN !
i fO0OREOOOOOO®OE 3358 8" & s~ 88 e8aEe
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What Kind of Monkeys Like French Fries?

Do each exercise and find your answer in the rectangle below. Cross out the box that -
contains your answer When you tinish. wnte the leners from the remaining Doxes i the
spaces at the bottom of the page

,’T‘) The County Far was held for 9 days dunng August A lotal of 26.010 people came 10 the
™ tar. What was the average attendance per day? 2‘ 840

@ The price of admission to the fair was $4 tor adults ana §1 for children On opening day.
3.576 people attended the far, mcluting 1.830 children
A. How many adulls atended 1ne tair on apening day? |, 7 Yo
B How much was paid for admission that day attogether?
) eS8, B 4

The tair director bought adverising in the local newspaper He bought 10 half-page ads
at $240 each and 3 full-page ads at $380 each. How much was paid for these ads

altogether? $ 3, 570

The nigh temperatures for each day of the tair. in degrees Fatrenheit. were as follows
85, 78. 80. B7. 93. 90. 84, 87. B1 Find the average of all these temperaiures. BSO

©

®

@)

(;

Ramon warked selting r‘e!resnmams at the lar. He worked B hours a day for 9 days ang
earned a lotal of $432 How much did Ramon earn per hour? $G

For tunch Jonathan ordered a cheeseburger for $2.45. French fnes lor 85¢c. and a
rilkshake for $1.35. He paid with a $20 bilt. How much change shiould he n.‘s%e received?

@

15.35
Trnere wasa Ferns wheel at the lar. Becky read that the onginal Ferns wheel was built in
1983 at the Midway, Chicago. The wheel was 250 leet in ciameter and had 36 cars. each
seatng 60 people. How many peopte could nde at the same ume? Z, [T}

=

@ Carrais weré built for sheep brought to the tar. Each corral could hold 75 sheep. and
there was space for 1,350 sheep allogether. How many corrals were buill? ¢ 8

@ Mrs: Penner made a quilt to entsr n @ compehition at the tair First she made coloriul
squares, using 16 pieces of fabnc for each square. Then she sewed the squares
together. The quilt had 12 rows of squares with 8 squares in each row. How many pieces
of fabric were used attogether? 1,536

- N ’
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What Did Emperoi' Klodius Numerus Say

MCMXXIV MCMLXXXVil
.
=
u'\ MCMLXIX MCMXCII
b B .
= .3 -
- © g .2
g g~ M
U\_‘q e a
=5 ° w
] 2 1Y)
32 bt X
R . 3
=z a
s5 2 ~
35 E. 0% <
85
[=3 —_ — .
5y Y v
2z = x
3o 3 —
2c :
@ -
25 S
=
3¢

XIV LXXXVI

XXX

XVt XXVt XQL{ XL

About His Ability With Roman Numerals?

Draw a straight ine connecting sach Roman numeral
all of these areas. The answer (o the litle question will appear
X

notice Ihat some areas inside lhe rectangle contam an

Vil

|g;\
1969 \

TOPIC 6-a Roman Numeras A-76

@
o

1988
1992 -
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2 9 9 N+~ NM

S N = mm v o T n =™

2 s oz o 3 % 3 % %

B EDEZ go:c‘: H

5.2 85:¢8g8g¢85:¢ g $
s 8 8 s & =z 2 2 = g =
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st answer Connect

DOT PLOT

 Write'the base ten numeral for each base two

Y

numéral below Find your answers to the lelt Start

@100, 23 @) 10101, 21

@ woor,, 25

(@ moo,, 28

12

H

8
@10, 13
Gnu,w 15
@10mom 20 (3@) 1014,

=
)
=
G
&
5
]
w
3
2
)
4
@
k3
a
£
®

'(@ 10004,

(8) 100,40
(7) 10110

E]
<
£

z
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+ Test of Geniusw-*>===

@ How many tnangles can you count in
this figure? |3

@ One hungred automotiles were iined
up bumper-to-bumper. How many
bumpers were actually touching each
omer? 198

@ Fill in the circles with the numbers 1, 2.
3.4, and 5 so that no matter which line
1s added. the sum of the four numbars
will be 12.

A baseball team played 150 games. it
won 30 more games than it lost. How
many games did the team lose? éo

(&) A pogo stck cost $30. A scooter cost’
$40 moare than the pogo stick. A bicycle
cost $50 more than the scooter, What

was the total cost of all three? $220

®

TOPIC §-c. Tast ol Garnus A-78

In the tollowingsubtraction problem,
the letters A, B, and C stand for three
difterent digits. What digit should
replace each letter?

Aga A=l
— CA B=0
AB c:q

Four trees lived in a row in Happy
Forest. They were red, green, yeliow.
and blue. The red tree was not next o
the green tree. The blug tree was (o the
nght ol the grean tree. The yellow tree
was first. In what arder were the trees

tined up? YGBR-

The toathpicks in the drawing have
been arrangad 10 form six squares.
Which five toothpicks can be removed
to leave only three squaras?

J REMOYE
THESE
FiIvE

You have 10 dotiars. If you give away
alt but 3 dollars, how many dollars
you have le? 3 .

SCORING KEY

8 or 9 — Supsrstr Genius

6 or 7 — Star Genius
4 0or 5 — Genius
3 or less — Gemws of the Future
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